B (Z)
CONTENTS

L

A EASEHI IR IS

INDEXABLE MILLING TOOLS OVERVIEW

A ¥Rl ) Bap 2 AN

INDEXABLE MILLING TOOLS CODE KEY

A EEEEEIT] Fran 2 AN

INDEXABLE MILLING INSERTS CODE KEY

AJHusEHI IR RS

INDEXABLE MILLING TOOLS

E BT

FACE MILLING TOOLS

B aMRIIRS

S QUARE-SHOULDER MILLING TOOLS

Uiz YAES]

PROFILE MILLING TOOLS

=EDHITIRS

SIDE AND FACE MILLING TOOLS

=BT

CHAMFER MILLING TOOLS

oreeT) (Kites ) &Il

HIGH FEED MILLING CUTTER

L rave Y REY ]l

HELICAL END FACE MILLING TOOLS

5T IR 58]

END MILL/ FACE MILL

B= (=)
CONTENTS

AL FLEa RS

INDEXABLE UDRILL

=HITJE R

BORING TOOLS

P104~P108

P109~P110

P111~P112

P113~P236

P113~P164

P165~P186

P187~P193

P194~P214

P215~P217

P218~P229

P230~P231

P232<RaaS

P237~Pa8g

P258&F279

#tEI7J2 | MILLING TOOLS

AI(UBEHITIR Indexable milling too

Category Shape

el 2N

Feature

HHE

Category

x5

Shape

AR

# = 71 A

Feature

FHIE

5%
LNKT 1506 ( Zccct)

Kr:45° AFO1 ABIfigit, PIEIRR Kr:45° AF02 ABIfiE, PIEIRR
NR1ER SR, RA TREREH, AT
oy | EAEE, RERER ag | HEE, RIBHFEL
2ol
B%: e
SEOT 12T3 SET 12T3
Kr:45° AFO03 ERNXEE, FEER Kr:45° AFO04 871 &AL T] 124
BREEGETIE, E%, BESER
11671 g 11758 Z
8%,
SE[IN 1203 ( Zcccet) 8
SELCIN 1504 ( Zccct ) OFKT 05T3(Zccct)
Kr:45° AF04 87 OEFMTI F Eh Kr:45° AF0S 87) 2R T) 84T
%, FEHITIFER E%, BESER
1187 BRI, 11957 iz
B%. B%:
OFKRO7 ( Zccet ) ODII[] 0605(E /R 4%)
. ° Kr:45° AFO08
Kr:45° AF06 WTRBTIE, B STMBBTIS, B
BEYF, BPERESISE, BERFUIHIBE A1/, BIR
120-12173 1227
%
ONLI[I 06040107 ( Zecot ) &%
ONDI[08T500 ( Zecet) SNEX 1206 ANN (3 & £7)
Kr:45° AFO09 ST TIE, Bl Kr:45° AF10 0TNRENE, S&F
[i:1) BEYF, 7TIOFAER, H R IRAE RIS, BES
ok 1235 o 12450 | b, WUIEAG, BES
7] B5%.: 7] 5%
SNMX 1205XTN (4} B 55) PNMU 1205ANER(Z %)
Kr:45° AF11 NI, G Kr:45® AF12 STBBIN, FE
L Nl BESF, PTMIRAN, B, ir WRTHERELR
12551 12751 K=,
B%. 8%
XNMX 070508 SNGX 1205ANN
Kr:55° DFO1 2ARBIE, BEF Kr:67° DFO1 0TRBIIE, BEF
TERE, ERER, 2 TEEEB e R MIE, R
1295 T s, 130-13171| 7, WYIEH, BES,
5%, S%:
HNEX 0905 ( Zccct) PNEG 110512R ( Zccet)
Kr:60° DFO02 WIERTf, EEIEIA Kr:65° DFO03 ST T, &l
ST, KYIEZM BEYF, YIHITE, A
13251 | I, sk, 13313451, SE4RMAIME R IR,
el 5%
LNKT 2510 ( Zcccet ) R365-1505ZNE ( L4 )
Kr:75° EFO02 MiERTf, {KIEIS Kr:75° EFO03 ERXEE, FEER
ST, KYIERM BEESETIR, g
Pron
- T, ek, 13670 Hido

5%
SPKN 1203 ( Zccct )
SPKN 1504 ( Zccct )

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




HEl7JE2 | MILLING TOOLS geHlJ7JE | MILLING TOOLS

dexable milling tools AJ&&{ELEITIE

# o= 71 A B & 71 A

BIEEAIEEEITIR Indexable milling too

Shape Feature Category Shape Feature Category Shape Feature Category Shape Feature
e ]| AR el R el RAR $FE 3] IS FFE
Kr:75° EF04 s Kr:75° EFO06 a7 sm =48 Kr:90° PEO1 Kr:90° PEO1
§ 7] il 5 VIEIRIE 5 —
AR S Loty 28 AT, =Heie Bk, s
BRI B T L A iE R B0 A HE 7. MET 71, I AN
13731 13871 | HE 15971 ’ 16077 ’
i B, ] 00 ( Zecet ) ?If(:TﬁTsDD(Z )
z ¥ o APKT 11T3| ccet ccct
SEREN2oRgzecet) DA IS ERER (&) APKT 16040100 ( Zeoct ) APKT 16040000 ( Zccot )
Kr:75° EFO08 Kr:88° PF88 Kr:90° PEO2 Kr:90° PEO2
87]51%77)#. EFE‘E@E@ BWﬁiﬁﬂH‘, EFEH‘JEE E!&?)}E, HBE ﬂ Eﬁ;)ﬁ. }#Eﬂ%ﬁﬂ
m 13971 WHEARE LRSI ﬁ 1417 iHRAE LRSI 1617 TERIGEN MINES 1627
EEH S%.: 5% %
SNGX1205ENN SNGX1205PNN APKT 1173000 ( Zecet) APKT 1173000 ( Zeect)
o B, %, 8FEIEIT o °
Kr:90° PFO1 Kr:90 PFO02 s ’ Kr:90° PEO3 TS e Kr:90 PEO4
ZrEe, FHIIRR %Tﬁiﬂﬁ"];ﬁiﬁiﬁ ;Ele':jjﬂjlgq::u, Gk ZI0OmE 158, TIHE
3 FE £, ERTE, FBEMm 4 EE i
143z | B BFERIEE 1001867 | 1637 | %, 16471 f;:;d" Litiehedh
5%, . APMT 113504PDER ( Zccct ) : -
TPKN 2204 ( Zccct) ?E%E:I'OQT308PER (zeoct) AT i SE | et LDOIC] 1504 ( FRi AT )
SEET 120308PER ( Zcect )
Kr:90° PFO03 WIERIA, RIIEIA Kr:90° PFO04 b, %, 8FEiEiT, Kr:90° PEO5 Hegs T =y Kr:90° PEO5 seg s =y
TENE ROEHM 2518 8 700 T R T I‘Fﬁ'bﬂ'sj], __Mgﬁ‘;f' ':‘E'T'%J'EZ]- __Eﬂ;’;ﬁi‘
o s 7, PIEIEAN, 7, YIEIEAN, Hm
I, fkEE 8, BRTH, +HN . HHENE : HEENE
14714831 1497 | gapT %5 1657 %5 1665
LNKT 1506EN-ZR (Zcccet) B O B 2%
i) LNKT 2007DN-ZR (Zccct) ] 5%, H APKT 1705PER (45E5% ) H APKT 1705PER (#5E% )
. LNKT 2510-ZR (Zccot) . R290-12T308 ( L4 ) a a
. . B o WEMEERTT, 1R 7y o KEfRRI, MR AN
Kr:90 PF Kr: PFO7 Kr: PE Kr:90 PE e
7 Kr9 06 MBI, B 71 | Kr90 MBI, BFES g | 1907 PEOS BIRBE, THIES g "0 06 BRI, REDLAE, 1
KuETFi&t, REIIEIA PI71%&%], AN £, BIFH90° , &R HIBE AR, B1FO0° , EMATH
150 | HAEE, FEES 15157 | HEH TN 7] 1670 | FgemT 7] 16871 | mI90° , EMFMMT
2% 2%, B%. 2%,
_ . . AXMT 1235[]JPEER ( f£% )
SOMT 12T308PEER ( =% ) XDMT 120408PDER ( %) XN j2asLIPEER (i) AXMT 170500CIPEER ( % )
Kr:90° PFO08 . ‘ Kr:90° PFO09 ouy Kr:90° PEO7 Kr:90° PEOS8 ZHMERYT, BE
amETS, E0E CMAR S, B R, THEH namE, MEES
=8 tﬂﬁ“%ﬂ, TIRE BETF 71 O H1 i 5 58 K AL AT 1k, BiFH0° , EA
15271 EX, YEBE 153m Bigit, PEIER 16971 1700 | FgsmT
s%, : RPN 1035PDER (%) 2%
LNMX170808 PNSR ( f£% ) XNEX 0806 ( LI ) APMT 1605PDER ({£7% ) ADMT 080304R ( EL7R45 )
ADMT 120408R ( EL/R45 )
. = 4 2 47] 7 =]
Kr:90° PF10 g“ﬂiﬁ’ﬂggg?&%ﬁ Kr:90° PF11 STIBETIE, B Kr:90° PEO8 = Kr:90° PEO09 =AY, K
PN » KA ; PN Bl st - AR, REFH
toaz | MRTEDIE, B w1577 s e i | a0 ERFEMT 172 | 90° , BRFHMI
Y| witams R e T| TTARREIE | sx | e,
5%, 5%, ADMT 080304R ( E/R%F ) R390-11T30I00 ( %% )
WNMUO080608 (&) XNGU090508PRHDE (4 B %) ﬁgmlggéggs ng;g; RERU-TERARE) Yl )
Kr:R  RFO1 RO HI7) R ST Kr:R  RF02 BERMTIHI) PR Kr:90° PEO09 SHEMERYT), 41 Kr:90° PE10 HAEE
LT R LR 5, FanRams HIEAE, BEFH 141
x.: ’
159-160T1 : 161-16257| RDKW 0803MO ( Zccct ) 173m | 90° , EATHEMI 17431
RCKT 10T3MO-DR ( Zccct ) RDKW 10T3/1204MO ( Zccot ) . 5%,
RgKT1204Mg—DR§chct§ RDKW 1204MO ( Zccct ) R390-11T30I00 ( %% ) BDMT1103000 (5% )
RCKT 1606MO-DR ( Zccct RDKW 1605MO ( Zccet ) = L
RCKT 2006MO-DR ( Zccct ) RDKW 2006MO ( Zcect ) R390-17040001 ( %) BDMT1704000 (5% )
Kr:R RFO03 KETAiRit, YIHEIEA Kr:R RFO04 iR 71 F % T IRET IR Kr:90° PE10 R ERE Kr:90° PE11 HRET, AEI@E
N, BRI, BT %, HRRE . " el s y
TR S L3ALE D)) it, REIEISER 5
16351 e 16471 1755 ) 1767 | T
: _ . BDMT 11T30IER (H& ) B%.
Eﬁmﬂvgo%”" ((E__g)) %ﬁn’nzomo (%) BDMT 1704000ER (5% ) APKT 100304PDER ({31 )

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




¥LEI7JE | MILLING TOOLS

#El7JB | MILLING TOOLS

Indexable milling tools BIEE{7EEEITIE

# o= 71 A # = 71 A

AI(UBEHITIR Indexable milling tools

Category Shape Feature Category Shape Feature (OF:1¢=e[e] Y Shape Feature Category Shape Feature
K5l 20N $FE 3] 27N FFE el 27N FFE ]| b2 TN FFAE
z Kr:90° PE12 Kr:90° PE14 Kr:45° ACO1 Kr:60° DCO1
=] AT AT, &5 ZH RS, TIH )
a BEYF, B3R BEAE, ERTFHEMT. MAFEER, AER, £ WNEEEIR, LA,
" 1835 ox 184-18571 _ - 2151 HEHIE 5 s 2163 Grl e g
o LNCIX151008PNR ( 33547 ) AXMT11T308 (Zcoct, =4 1;!] f‘:ﬁﬁmoms T 7 ?:fn:ﬁzoms I
7] #t
7] Kr:30° ZCO01 ra
Category Shape Feature Category Shape Feature ;;Eg% et B 4% HHERES, BH
w2 W v o il 23651 -
%51 4k 454F e 4k 454F LE % 7] s
SPMT 120408 ( Zcccet ) T &=
Kr:R RBO1 3 | f3 Kr:R RBO2
e itk EAMANEMT, % F
L, B S A= R E R,
o | D B igsro077 | TVEEE, HRMS
o ) Category Shape Feature Category Shape Feature
CCC g
BETHa a2t XPHT 16/20/25/30/32R803 eS| AR $FAE e 2N
ZPNT 2204 ( Zcccet ) ( Zccet)
Kr:R RBO3 i [Kr:R  RBO4 e Kr:x  XKoO1 RS BEETEH, Kr:x  XKoO1 BUSBEETEH,
% el LUR R 2 e X, AFES XL, AFES
o BT, REBEE, e o MHAREE, B pigm | MI, REEE, FHE oz | M, REEE, B
7 191-19251 |  FaEEHF 7 1933 et , BRI n M ECA
q 3 Sk,
ZOHX1203/1604/2005 ZNMT 1804100-C ( f£% ) $%: SDMT 09T3 ( Zccct ) SDMT 09T3-DM ( Zcect )
/2506/3007/3207 ( Zecet ) é";‘m gsgglgg:g { E;i:; SDMT 1204 (Zcect ) SDMT 1204 ( Zcect )
Kr:x  XKO02 ERARERTN S, Kr:x  XKo02 ﬁéfli%ﬂf’érﬂtﬂﬁﬂﬁ,
KA Hl, AFEE acinbetu ek
Category Shape Feature Category Shape Feature ootz ML, NEER, FE vopis | T REER, ®E
el 27N ¥FE ]| 2N ¥F1E |l ws T I
. WPGT 060415ZSR ( Zccet )
Kr:R PTO1 Kr:R PTO1 ] WPGT 080615ZSR ( Zccct )
HohENE, TIMIES HhENE, MIHIES WPGT 05/06/08/09 (Zecot) WPGT 09072525R { Zooct)
C g Kr:x  XKO3 Kr:x  XKO3
19471 19550 ) )
7 5%, ol s, PN 6TMMBTIS, BFM x 6TMATI S, B
MPHT 060304-DM ( Zccct ) MPHT 060304-DM ( Zccct ) H e 47 # .
MPHT 080305-DM ( Zccat ) MPHT 080305-DM ( Zecat ) w 22351 " 2247 | e
MPHT 120408-DM ( Zccct ) MPHT 120408-DM ( Zccct ) Zn 5%, Zn 5%,
: WNMX 09T316NN-MM
Kr:90° PTO1 Kr:90° PT02 . % L L % (EHF)
M N%E, YEIESR TIHEISER, HEMT, 7] 7]
47], &5t
1965 ;\% 198-199 51 AL Kr:x XKo04 Kr:x EXN et .
MPHT 060304-DM ( Zccct ) % @D CTIWME ST RES BAE, RYBIRTI,
MPHT 080305-DM ( Zccct ) XSEQ 1202/1203 ( Zcect ) - BTN RHANT. - BEEEZRETIERN
MPHT 120408-DM ( Zccct ) /12T3/1204/12T4 (Zccot ) SR 2275 | xieaekT).
2%
— Kr:90° PTO02 _ Kr:90° PTO3 RLAVUOSCEIREGE :
= PIMI%R, REmMT, = Pl TR ST LNMU03032ER
i) 47), BT [i] PEBEARES, BIMIEARR. Krix EXN Krix  TE90
7] 00201 | g, 7 202-204R ’ BmE, I, ; gitEmED, WEMA
&% XSEQ 1202/1203 ( Zccet ) 5t s, BEEERETIEN W = A, B A,
71 /12T3/1204/12T4 ( Zcccet ) 71 AXMT11T308 (Zccct, = 4%) 22671 KB T] 228-22971 BRE.
Kr:90° PTO04 ISR, EEmT, Kr:90° PTO04 TI B ST ?NT/I U0303ZER ff&oeosoa
‘ﬂgﬂ' 471, &iTiEsF W MR R, TIHIERIR,
205-20651 L%N%ET1 02304/2804 207-2101 ﬁlgéEﬁ 02304/2804
/3304-GM (Zccct) /3304-GM (Zccct) Category Shape Feature Category Shape Feature
LNET123804/4304 LNET123804/4304 S 2 P g e P
14804/5304-GM (Zcoct) 14804/5304-GM (Zcoct) 25| AR HFUE el AR FFE
Kr:90° PTO5 7] B 37 3 G Mg R 71 B ST SRR iz Kr:90° PHO1 B, HMEE, £ iz Kr:90° PHO1 BRI, HAEE, £
A Sbe, R LA SRS S e YR, AEEMIHE i YR, ABEMTHE
211-21251 ﬂ:fi&o 213-214T1 zf!&o o 2305 & T 2317 HE
LNGX100501C1-GM (Zooot) LNGX100501C1-GM (Zooot) ot S%: #t s%.
LNGX 140701 (1-GM(Zccet) LNGX 140701 (1-GM (Zccet) 7] R el 7 P e

THRAKEFE RSB X #HEEZEEMNEwww.hnsant.com

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com

| SANT

T
[—1
0



#HI7J& | MILLING TOOLS §AHI §nu1 #HI7JE | MILLING TOOLS

AJEAUHHITIAR Indexable milling tools Indexable milling tools AJ&{UsEHITIE

* B[R HtHIT) AR SRR

T A RREP M ) HIEIAE R & L&  @gdRE) EHIL

EX-)) TIE 35 Y141 774 BE(mm) Tool |na||ati0n Position Cutting Direction Right Left Face Milling Tool
Lead Angle Type Of Tools Cutting Edge Length A At;?eggf*fi;:plter w Sﬁ!g%id _
ide-
T yilay Inser/t TJ) i R Shape of blade BREIE N AT 8.3 s short
A 4'50 F Face milling tool mi%iﬁl%r c D R S T L B B type of%apter T Re;;{ct%b;l‘e;Head " _
FEANGET c CEEH yr ERK IRRE eaeure i AN
D 60° E Shoulder milling tool 5.556 - —  — | — 09 — C type of adapter Morse Tool Length Cutter Arbor
D DEED BT %E:_Ct ﬂﬂ‘lﬁ
g | %7 635 06 07 — — 11 — Dtype of adapter Taper L lengthening
E 75° Profile milling tool z HHF J R
Straight shank Spline ) ZmE7I%T]
T 1 & 7] 9.525 09 1 09 | 09 16 — fiﬁw'}i\ Side And Face
p 900 T slot milling tool . ? roove Wi H12 Milling Tool
N 12.7 1 — <
K B T] 00 12 5 12 12 22 ERmT E%??;’EAL%UJ
High feed milling cutter The deepest machining 104 Helical And Face
z 30° a 15.875 16 | 19 15 | 15 27 — Milling Tool
|
c Chamfer milling tool 19.050 19 o 19 19 33 o
R El# . )
H BRRESIET] -
Helical end face milling tool 25.400 25 — 25 25 44 25
X %
Special
EKHES
Number Of Type
%iﬁ?’:‘i*ﬂ Shell Structure ‘ ‘
222,27 ©227,32,40
A 20 B | TIRMI LS ER 2D HH s » )
?; g; 22 ! ?: Diameter Tooth
# L 40 £ | 50
A ! & 0 |
A ! B !
Type Of 1.13.5 Type Of |
Adapter| 218,20 Adapter| !
250,63,80 ©38,45,56 |
! | ©100,125,160 |
GB5342-96#1 % 11050-080 EXEEE T GB5342-96#1 % 1ID100-0160 EXEEE I
GB5342-960f@50-280shell Facmilling Cutter GB5342-960f@100-2160shell Facmilling Cutter
) 101.6 177.8 .
C | @60 D 101.6
& 7 : ; 2 T
e | ! - & 7k ! 7ZE
| i | ! 63 ] 32 ! | I I I 0
C i ! /I 70 - HIZINN | {*é i 80
Type O ‘Z—;% ! Type Of | £22]| |28 !
Adapter Adapter| e T =
| ©200,250 f — f 1
GB5342-96#1 £ #93200-33250 GB5342-96 1 E HID315% I EHY
EXEH T EXEH T
MERE. Bl EXERSEEFRSALRERFINIEARZR side-locked Shank. Straight Shank, Morse Taper Shank

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS
* TR T) K & A i

EEIETI A
7L( :l 7T 7 RS UIH
HERER C D R S T \" w W%%i’g
TR = A (mm) ZEmek
TR I RS 2 [/ =
we| B%7l | 5xEEE | EWE | RS| BxA| BXGEE | IAAE &4 o8 A& 4 o 2L AT
>65° 3.97 06 0 079
D, B0, < |« + = e s - T : : e —
A B c : 01 1.59
e 5.56 09 T1 108
‘@ H| 5 B R| =% B @ 60 06 02 238
A . ) e 68.305 06 07 - 11 11 T2 258
: 03 3.18
c| = x Fl % & C:' 9.525 09 | 1 | 09 | 09 | 16 | 16 | 06 3 397
555° / Q >65° 10.0 10 04 4.76
K ] IR — N R I N W 120 12 T4 4.96
— 12.7 12 15 | 12 | 12 | 22 | 22 | o8 05 5.96
<
15.875 16 15 | 15 | 27 5 5.95
w M
O Q O Gl % i £8 CI:D 16.0 19 | 16 06 6.35
[0} P R <65° 19.05 19 19 19 33 T6 6.75
T 5 BE G| # S @ 20.0 20 o7 704
/\ <= o 25.0 25 25 | 25 09 9.52
s T vl ol & . - x | o 25.4 25 | 25 9 9.72
) 31.75 31 1 11.11
foo —65° 32 32 12 12.70
At u|l # W
w z PHITRE i3

*

BE00  (BEEEDE

EUHITNE A A = l
Ks| BARE) |(KS| BRE) 'm t
m
Q A ) E3£7) H1H1 7114 (mm) B RS
A B s 25
"“’3“ 50 /s = s N T g >
re TNREEM | HEESD1| EESt | (3% ) MEREEEMER (BHK. X/h5) F / 7 j
DEMm) | AEMmM) | AEOM)| o g () Kr an K
O
A +0.005 +0.025 E 7 O [ S O, P, P, p— A 450 A " 0-5 0-0.10
c - D \h/15° F +0.005 +0.013 +0.025 | 635 | +0.08 | +0.08 | ¥0.08 | #0.11 | ¥0.16 | - . 5 . os Py YIE1 5 m
— 7 - -0.
c £0.013 £0.025 10.025 | 9525 | +0.08 | +0.08 | £0.08 | 0.1 | +0.16 | - D 60 B <> R &
127 | $0.13 | $0.13 | $0.13 | 2015 | - E 75° c 7° E 2.15° 2:0.20 P
H +0.013 +0.013 +0.025 e
15.875| +0.15 | +0.15 | +0.15 | £0.18 | - . 150 L =
E \hr F \I& E| 0025 | %0025 | #0025 | 1905 | 0.15| $0.15 | 0.15 | $0.18 | — | - F |8 | D 3.20° 5025
20° 25 .
G +0.025 +0.025 +013 | 254 | -— | 018 ] - P 90° E 20° = N WA
® WEFACDA%(mm) . T 4-25° 4-0.30 W
J +0.005 |#0.05-x0.13| +0.025 z HE F 25
WiZE |E=ff EFAF |80°%| 55°% K| 35°%H| EF o
G N K | 0013 |#0.05-+0.13| #0.025 G 30° 5-30 5-0.35
30° 0 6.35 | +0.05| +0.05 | +0.05 | #0.05 | +0.05 | -
L $0.025 1 £0.05-+0.13| £0.025 | 9595 | +0.05 | +0.05 | +0.05 | +0.05 | +0.05 | +0.05 N 0° 6.0.40
M | +0.08-+0.18 |+0.05-+0.13 +0.13 12.7 +0.08 | +0.08 | +0.08 | +0.08 - +0.08 11° Q ’
15.875| +0.10 | £0.10 | +0.10 | +0.10 | — | £0.10 P 7045 TR
P 0| HEfbinEm N | +0.08-+0.18 |+0.05-+0.13| +0.025 - Y.
— 19.05 | +0.10 | +0.10 | +0.10 | 0.10 | - | £0.10 Z HE
U | +0.13-+0.38 |+0.08-+0.25 +0.13 254 - +0.13 — — — +0.13

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#tEI7JB | MILLING TOOLS

EHTIE ke

AFO1

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE
NV POMBO

B vl
* 7JELMH¥ Spare * J)ELH4 Spare
71K Insert J1 & Shim ¥2ZE Threaded Sleeve | 71 F ¥ T Insert Screw| " =F Wrench " =F Wrench TR Insert J]# Shim Y2ZE Threaded Sleeve| 7] F 3247 Insert Screw " =F Wrench " F Wrench
SE[]T12T3 S13BS SM0508 TL60 M3.5X10 T15T S3.5 SE[JT12T3 S13BS SM0508 TL60 M3.5X10 TI5T S8I5
. BMENRS%MNESAE. =2 . L. F&EA. Note: Insert can be Zccct/Mitsubishi/Sandvik/Sumitomo brands. A BENRS%MNESAE. =2 . . F&EA. Note:Insertcan be Zccct/Mitsubishi/Sandvik/Sumitomo brands.

* 71AHERS * J1E MRS Type o
Type AR (mm) Dimension T HZR~F(mm) Dimension Adapter
= EIEEEAENERER
40 62.4 50 22 40 6

| = 0
£ o oo [ oo | o | v |+ | 5

AF01.12A22.050.04 A 4 0.3 AF02.12A22.050.03 40 62.4 50 22 40 6

AF01.12A22.063.05 50 75.4 63 22 40 6 A 5 0.5 AF02.12A22.063.04 50 75.4 63 22 40 6 A 4 0.5
AF01.12A27.080.06 60 92.4 80 27 50 6 A 6 1.3 AF02.12A27.080.04 60 92.4 80 27 50 6 A 4 1.2
AF01.12B32.100.07 70 112.4 100 32 50 6 B 7 1.8 AF02.12B32.100.05 70 112.4 100 32 50 6 B 5 1.8
AF01.12B40.125.08 80 137.4 125 40 63 6 B 8 3.0 AF02.12B40.125.06 80 137.4 125 40 63 6 B 6 3.55
AF01.12B40.160.10 100 172.4 160 40 63 6 B 10 5.0

AF01.12C60.200.12 160 212.4 200 60 63 6 C 12 6.8

AF01.12C60.250.14 200 262.4 250 60 63 6 C 14 11.2

AF01.12D60.315.18 270 327.4 315 60 70 6 D 18 20.8

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7JR | MILLING TOOLS §AMI §AUI #HI7J2 | MILLING TOOLS
* J] B R Matching Insert Eiﬁna

8 %’ %’ 8 HZA R~ (mm) Dimension
NP 212 AFO03
W W a| b
(o>} B> o (=)

SEET12T3-FM ® & O O O 13.4 13.4 3.97 4.1 2.55

SEET12T3-SM 0 OO0OO0O0O0OO 13.4 13.4 3.97 4.1 2.55

SEET12T3-SR O O 13.4 13.4 3.97 4.1 2.55

P E N EEEEEN
M THR O m H N
[ |

S
29 900 200
K P el a1C —
HELR od} [ T
MALE. ®hEE
L

EREMR
@ E&EETF Unallocatedstock O FI&FERF Available stock B # % R A Main application  [] #/& K Al Extended application 7] ELHH% Spa

713k Tool chuck FER Clamp XSk E25T T SRR ET " F Wrench

Double Headed Screw Tool chuck screw

J1 B Insert

SE[IN1203 LSE12R/L S3
WO1R/L DM8x21X LOM5x15.1
SE[IN1504 LSE15R/L S4

FH: BETNRBWSEKRMEATIF . Note: The Insert Is Zecct Brand.

*x NNEARES

Type E- (mm) Dimension
=
- oo | oo | oo | L | ane |
80 103 27 50 5.5

AF03.12A27.080.04 A 4 1.8
AF03.12B32.100.05 100 122 32 50 5.5 B 5 2.4
AF03.12B40.125.06 125 147 40 63 5.5 B 6 4.4
AF03.12B40.160.08 160 181 40 63 5.5 B 8 6.4
AF03.12C60.200.10 200 221 60 63 55 C 10 8.5
AF03.12C60.250.12 250 270 60 63 5.5 C 12 141
AF03.12D60.315.15 315 353 60 63 5.5 D 15 222
AF03.15A27.080.04 80 103 27 50 7.5 A 4 1.7
AF03.15B32.100.05 100 122 32 50 7.5 B 5 23
AF03.15B40.125.06 125 147 40 63 7.5 B 6 4.2
AF03.15B40.160.08 160 181 40 63 7.5 B 8 6.1
AF03.15C60.200.10 200 221 60 63 7.5 C 10 8.3
AF03.15C60.250.12 250 270 60 63 7.5 C 12 13.6
AF03.15D60.315.15 315 353 60 63 7.5 D 15 21.8

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI

Eﬁna Kr:45° 0 Q Q M)@ \)

AF04

* 7] ELKi{4 Spare

TR Insert 71 K #2%T Insert Screw R =F Wrench

OFKTO05T3 TL60 M4X10 T15T

EHH: RETHREWNSZ#KiMEEATIF, Note: The Insert Is Zccct brand.

* 71E#1EES Type of Mi

Y
=
0

Type EZR~F(mm) Dimension
AF04.05A22.050.04 40 56 50 22 40 3.5 A 4 0.3
AF04.05A22.050.05 40 56 50 22 40 3.5 A 5 0.4
AF04.05A22.063.05 50 69 63 22 40 3.5 A 5 0.6
AF04.05A27.080.06 60 86 80 27 50 3.5 A 6 1.3
AF04.05B32.100.07 70 106 100 30 50 3.5 B 7 2.6
AF04.05B40.125.08 80 130 125 40 63 3.5 B 8 4.2
AF04.05B40.160.10 100 165 160 40 63 3.5 B 10 5.1
AF04.05C40.160.10 100 165 160 40 63 3.5 C 10 4.8

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§At"l $tHI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

EHTIR e S LI

AFO04

@Dl

oP

[oXe]
@D2
* ﬂ-allﬁﬁ: Spare
B V3 — ﬁ]ﬂﬁmgg -
Double Headed Screw| Tool chuck screw Adjusting Screw

OFKR0704 LOFO7R/L WO2R/L DM8*21 LOM5X15 TM0608 S3 84

B BEJTHEBNSEZ#%IMNEEATIHE . Note: The insert is Zccct brand.

!
=
0

* J1EMEES Type

Tooth
Type B R~F(mm) pimension A ET? els)

_ (oo T oo [0 [ [ 0 [ o |z

AF04.07A27.080.05 60 91 80 27 63 5 A 5
AF04.07B32.100.06 70 111 100 32 63 5 B 6 1.8
AF04.07B40.125.08 80 136 125 40 63 5 B 8 3.9
AF04.07B40.160.10 100 171 160 40 63 5 B 10 5.9
AF04.07C60.200.12 204 211 200 60 50 5 C 12 7.6
AF04.07C60.250.16 254 261 250 60 50 5 C 16 13.3
AF04.07D60.315.20 319 321 315 60 50 5 D 20 18.3

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI

AI(UEEHITIR Indexable milling tools

mEEJIB  kras
AFO05

* 71 ELBi#4 Spare

T1H Insert 71 F 2%  Insert Screw | =F Wrench

OD[J[J0605 TL60 M5X12 T20T

0 BETNRZWSERRHEIIFA. Note:The Insert Is Walter brand.

* 71E #1815 Type of Milli

e EARF(mm) pimension

i3 o [ oo | o [ oa | n | o
AF05.06A22.050.04 40 60 50 22 40 10
AF05.06A22.063.05 50 73 63 22 40 10
AF05.06A27.080.06 60 90 80 27 50 10
AF05.06B32.100.07 70 110 100 100 50 10 B 7 1.5
AF05.06B40.125.08 80 135 125 125 63 10 B 8 25
AF05.06C40.160.09 100 170 160 160 63 10 (¢} 9 4

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§nu1 $tHI7JE | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

N DoOome

PDI
@D

* J1E M+ Spare

TR Insert FE%H4T Clamping Screw R F Wrench

ON[J[Jo6041] L60 M4X10 T15T

ON[CICIo8T5] L60 M5X12 T20T

FH: BEDRBWSEKRMNEEATIF. Note:The insert is Zccet brand.

* 71E MRS Type

Type EAERF(mm) Dimension IR

N R T

AF06.06A22.050.05 40 62 50 22 45 4
AF06.06A22.063.06 50 75 63 22 45 4 A 6 0.5
AF06.06B27.080.07 60 92 80 27 50 4 B 7 1.2
AF06.06B32.100.08 70 112 100 32 63 4 B 8 1.2
ONO06 AF06.06B40.125.09 80 137 125 40 63 4 B 9 2.6
AF06.06C40.160.11 100 172 160 40 63 4 C 11 4.3
AF06.06C60.200.13 160 212 200 60 63 4 C 13 7.6
AF06.06C60.250.15 200 262 250 60 63 4 C 15 13.5
AF06.06D60.315.17 250 327 315 60 70 4 D 17 20.8
AF06.08A22.063.05 50 78 63 22 40 5 A 5 0.5
AF06.08B27.080.06 60 95 80 27 50 5 B 6 1.2
AF06.08B32.100.07 70 115 100 32 63 5 B 7 1.2
AF06.08B40.125.08 80 140 125 40 63 5 B 8 2.6
ONO08
AF06.08C40.160.10 100 175 160 40 63 5 C 10 4.3
AF06.08C60.200.12 160 215 200 60 63 5 C 12 7.6
AF06.08C60.250.14 200 265 250 60 63 5 C 14 13.5
AF06.08D60.315.16 250 330 315 60 70 5 D 16 20.8

THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#tEI7JB | MILLING TOOLS §AHI
HEEJIR wras

AF06

L
Ll
< - 5 [a] S} °
) ol
* 71 ELHt#F Spare
TR Insert 71 K #2%T Insert Screw R =F Wrench
ON[I[J0604[1] TL60 M4X10 T15
ON[I[J08T5[] TL60 M5X12 T20

EH: METRFENSEZ#%MEEATIF . Note: The Insert Is Zcect brand.

w J1E MBI S Type of Mill

Type EA R (mm) pimension Adapter

| = 0
= oo | o0 | w0 | L | U | & | g
37 25 20 100 45 4

AF06.06W20.025.02

AF06.06W25.032.03 44 32 25 110 50 4 W 3 0.3
AF06.06W32.040.04 52 40 32 120 55 4 W 4 0.4
AF06.08W25.032.02 47 32 25 120 55 5 W 2 0.4
AF06.08W32.040.03 55 40 32 120 55 5 W 3 0.5
AF06.08W32.050.04 65 50 32 120 55 5 W 4 0.6

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§nu1 $tHI7JE | MILLING TOOLS
Indexable milling tools BIFE{EkHEITIE
N  DOMPO D

@Dl

@D aQl
O

1 J-,I
I
@d
@ D2
* 71 ELHi#F Spare
T F Insert 71 R 82 %T Insert Screw " F Wrench
SNEX1206ANN TL60 M4X10 T15T

B BETNRFBWSETIKM T Note:The insert is Korloy brand.

* 71B#1#%EIS Type of Milli

Type EARH(mm) pimension

AF08.12A22.050.04 40 63 50 22 40 6

AF08.12A22.063.06 50 76 63 22 40 6 A 6 0.7
AF08.12B27.080.07 60 93 80 27 50 6 B 7 1.2
AF08.12B32.100.08 70 113 100 32 50 6 B 8 1.7
AF08.12B40.125.10 80 138 125 40 63 6 B 10 3.6
AF08.12C40.160.12 100 173 160 40 63 6 C 12 4.8
AF08.12C60.200.14 150 213 200 60 63 6 C 14 5.3
AF08.12C60.250.16 180 263 250 60 63 6 C 16 12

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS
EfEJJE kras 0 Q (PR XK VRS EfETIE keas 0 Q OmPL )

AF09 AF10

* 718 HKitF Spar * 7] ELH$44 Spare

- o — o —

SNMX1205XTN TL60 M4X10 T15T PNMU1205ANER TL60 M5X12 T20T
EH: BETDHRZWSERERIIF . Note:The insert is Taegutec brand T BETRZWSERET R - Note:The insert is Kyocera brand.

* 71E##&BIS Type * 71E##&BISType of Milling

Type EA R (mm) pimension Adapter i Type EHZAR~(mm) Dimension Adapter

=l *%D 5 = *%D
| I
_ T I B T O T _ 2 I N T T

40 63 50 22 40 6

AF09.12A22.050.04 A 4 0.5 AF10.12A22.063.05 50 76 63 22 45 55

AF09.12A22.063.05 50 76 63 22 40 6 A 5 0.7 AF10.12B27.080.06 60 93 80 27 50 515/ B 6 1.0
AF09.12B27.080.06 60 93 80 27 50 6 B 6 1.2 AF10.12B32.100.08 70 113 100 32 50 55 B 8 1.4
AF09.12B32.100.08 70 113 100 32 50 6 B 8 1.7 AF10.12B40.125.10 80 138 125 40 63 5.5 B 10 215,
AF09.12B40.125.10 80 138 125 40 63 6 B 10 3.6 AF10.12C40.160.12 100 173 160 40 63 5.5 C 12 3.8
AF09.12C40.160.14 100 173 160 40 63 6 C 14 48 AF10.12C60.200.14 150 213 200 60 63 515 C 14 6.5
AF09.12C60.200.18 150 213 200 60 63 6 C 18 5.3 AF10.12C60.250.16 180 263 250 60 63 55 C 16 9.1
AF09.12C60.250.20 180 263 250 60 63 6 C 20 12

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AM #HI7JE | MILLING TOOLS
ATEAUHHITIR Indexable milling tools
Eﬁna jir458 0 Q 0 MJ 0 \) g % J] B iE#E Matching Insert

HZA R~ (mm) Dimension

meT S| R
AF11 el oo ] e e
o 5.36 4.0

D XNMX070508-GM 6.98 14.5 0.8
& XNMUO705ZNN O @ O O 6.98 14.5 5.36 4.0 0.8
o= XNMUO705ANN O @ O O 6.98 14.5 536 4.0 0.8
0 o o I
z A Omm ]
| M 58 OoOm i
E EEE o0 ﬁ
Y == O\ ]
. ey | v -
p2 - WHESE. has o
ERE R
* ”Emﬁ: Spa @ E % FEETF Unallocatedstock O AJ % FEfF Available stock B #£ 75  F Main application [] 37 & 2 F§ Extended application
T1R Insert T 4247 Insert Screw " F Wrench
XNMX070508 TL60M3.5X10 T15

i BETDRS®MNSEA. EREEB. Note: Insert can be Zccct/Walter brands.

* JIEMHEES Typeo

Type EHARR~H(mm) Dimension Adapter

AF11.07A22.050.04 40 50 22 40 4.5

AF11.07A22.063.05 50 63 22 40 4.5 A 5 0.5
AF11.07A27.080.06 60 80 27 50 4.5 A 6 1.2
AF11.07B32.100.07 70 100 32 50 4.5 B 7 1.7
AF11.07B40.125.08 80 125 40 63 4.5 B 8 3.0
AF11.07B40.160.10 100 160 40 63 4.5 B 10 5.2

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI
HEtJIE «ras

AF12

N OB

D
o
<
O Q ]
T
d
D2
>
* 718 M Spa
T1F Insert 71 K #24T Insert Screw " F Wrench
SNGX1205ANN TL60M5X13 T20

FH: BETRSH®NGER. ERYE. =igRBM. Note: Insert can be Zccct/Walter/Kolory brands.

* 7JEMEBIS Typeo
Type EHAR~H(mm) Dimension A?;T:Fl’ter
gg =

= | o0 | o0 | e | H | & | g
40 50 22 40 6.5

AF12.12A22.050.04

AF12.12A22.063.06 50 63 22 40 6.5 A 6 0.5
AF12.12A27.080.07 60 80 27 50 6.5 A 7 1.2
AF12.12B32.100.08 70 100 32 50 6.5 B 8 1.8
AF12.12B40.125.10 80 125 40 63 6.5 B 10 3.1
AF12.12B40.160.12 100 160 40 63 6.5 B 12 5.5

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§nu1 #HI7JE | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

% JJ B iE#E Matching Insert
HZA R~ (mm) Dimension

N
6.5 5.9

Bl & Type

(Ol NOlcdS
Ol 10lcdS

SNGX1205ANN 12.7 12.7 0.8
SNMX1205ANN ® ® OO OO o 12.7 12.7 6.5 5.9 0.8
A = Ommm 5 5 .
M TR OO0 m T
n%% m 0 EEEN a1.c od
BatRE ]
BALS. KA n —
ERE R
@ F & FETF Unallocatedstock O TAJ 5 EETF Available stock B 3 7= 52 F§ Main application [] $#7 &  f Extended application

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

EfEJJE kess 0 Q PRI INES, mEtJIE keer Q K
DFO1 DFO1

* 7JEH#F Spa
J1F Insert 71 K 42457 Insert Screw " =F Wrench

* 71 B Spa

TR Insert JE 24T Clamping Screw JELR Clamp #F Wrench PNEG110512R TL60 M4X10 T15T

FH: BETDREWSEKRIMNEEATIF. Note: Theinsertis Zccct brand.

HNEX0905 #HA: DM6*20 W18N S3
# * JIEHIERE Typec
FH: BENRBWSEKRMNEATIF . Note: Theinsertis Zccct brand.

Type EHAR~H(mm) Dimension A}(;aé)lter
BS S
* J1EHHERE Type of M DFO1.11A22.050.04 40 60 50 22 45 5

DFO01.11A22.063.05 50 73 63 22 50 5 A 5 0.8
Type R (mm) pimension
Eil = DFO01.11B27.080.06 60 90 80 27 50 5 B 6 1.1
R DFO01.11B32.100.07 70 110 100 32 50 5 B 7 1.8
DF01.09A27.080.08 60 88.5 80 27 50 8.5 A 8 1.1 ;3
il DF01.11B40.125.08 80 135 125 40 63 5 B 8 2.9
DF01.09B32.100.10 70 108.5 100 32 50 8.5 B 10 2.6
DF01.11B40.160.10 100 170 160 40 63 5 B 10 5.6
DF01.09B40.125.14 80 133.5 125 40 63 8.5 B 14 3.7
DFO01.11C60.200.12 150 210 200 60 63 5 Cc 12 7.9
DF01.09B40.160.18 100 168.5 160 40 63 8.5 B 18 5.6
DFO01.11C60.250.14 180 260 250 60 63 5 C 14 13.4
DF01.09C60.200.22 150 208.5 200 60 63 8.5 C 22 6.3
DF01.11A22.050.05 40 60 50 22 45 5 A 5 0.6
DF01.09C60.250.28 200 258.5 250 60 63 8.5 Cc 28 10.3
DFO01.11A22.063.06 50 73 63 22 50 5 A 6 0.9
DF01.09D60.315.32 270 323.5 315 60 63 8.5 D 32 21.7
DFO01.11B27.080.08 60 90 80 27 50 5 B 8 1.2
% DF01.11B32.100.10 70 110 100 32 50 5 B 10 1.9
S DF01.11B40.125.12 80 135 125 40 63 5 B 12 3.2
DF01.11B40.160.14 100 170 160 40 63 5 B 14 6.4
DFO01.11C60.200.16 150 210 200 60 63 5 Cc 16 8.5
DF01.11C60.250.18 180 260 250 60 63 5 C 18 18

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
EETIR koo

DFO1

?d

* 71 ELHi{+ Spare

T1R Insert

JE & 424T Clamping Screw E#R Clamp #H=F Wrench

PNEG110512R DM6+20 W18N S3

EH: BETRBWNSE%RIMNEEA TR Note: The insertis Zccct brand.

* 71B#%BIS Type of

Type EHZA&A R~ (mm) Dimension Adapter

Category

= N N N T T e
DF01.11A27.080.10 60 90.1 80 27 50 5
= DF01.11B32.100.14 70 110.1 100 32 50 5 B 14
g DF01.11B40.125.18 80 135.1 125 40 63 5 B 18
DF01.11B40.160.22 100 170.1 160 40 63 5 B 22

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

#H = 71 A

o O

#H o= 7 A

mEtJIE Keeo
DFO02

* 718 M4 Spar

T1R Insert

LNKT2510

T BETDREZWSERNGEER TR

* J1E#MHEES Type of

Type

8BS
DF02.25B40.125.05
DF02.25C40.160.06
DF02.25C60.200.08
DF02.25C60.250.10

DF02.25D60.315.12

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com

J1# Shim

LLN25R-ZR

100

150

160

270

189

229

278

346

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

o O

71 K %247 Insert Screw

TL60 M5X16

Note: The insertis Zccct brand.

EARRF(mm) pimension

L oo | oo | oo | e | v | »
80 154 125 40 63 17

160

200

250

315

40

60

60

60

63

63

63

63

J1 B2 £T Shim Screw

L60 M3.5X10

17

17

17

17

O

T15T/T20T

6 6.9
8 10.5
10 16.7
12 27.3



#HI7J& | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS
AIEAUHHEITIR Indexable milling tools
mHEtJIE kees 0 Om EEtJ]E kees 0 PR

DFO3 DFO3

T I
joks}
@ D2
* 71 ELHi4 Spar Y J1E M Spare
TR Insert 7] Fr 8257 Insert Screw #F wrench J1F Insert JE X247 Clamping Screw ER Clamp #F Wrench
R365-1505ZNE TL60 M4X10 T15T R365-1505ZNE DMé*20 W18N S3

FH: BENRBEWSEZLHETTIF . Note:The insert is Sandivk brand. EH: BETREWNSZUEERTIF. Note: The insertis Sandivk brand.

* JIEMEES Ty

* JNEMEES Type

Type EARH(mm) pimension

DF03.15A22.050.04 40 57 50 22 40 6

B - . 3 oo 20 5 DF03.15A27.080.10 60 87 80 27 50 6 A 10 14
DF03.15A27.080.06 60 87 80 o7 50 5 DF03.15B32.100.14 70 107 100 32 50 6 B 14 20
DF03.15B32.100.07 = T 1 - 50 5 8 ; 18 DF03.15B40.125.18 80 132 125 40 63 6 B 18 38
DF03.15B40.125.08 80 132 105 20 63 6 B 8 s DF03.15B40.160.22 100 167 160 40 63 6 B 22 57
DF03.15B40.160.10 100 167 160 40 63 6 B 10 52 DF03.15€60.200.28 150 207 200 60 63 6 c 28 102
DF03.15C60.200.12 150 207 200 60 63 6 c 12 7.8 RO CO0.ZE028 180 257 250 60 63 6 c 36 15.2

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §At"l #HI7JE | MILLING TOOLS
mEtJIE kers 0 PRUEK) mEEJI B kerse PRUEK)

ARLEEN BEIEO

EF02 EFO3 — I —

@b1 | @D1

7 R
\ ! ""."‘ ) S ('.:1,

* 7B K4 Spa

T1F Insert T3 Tool chuck [E$R Clamp | E2#24T Clamping Screw Tool cr;l;ck‘screw #RF Wrench
* 7JELHF Spa

I

TR Insert T1# Shim T R 4247 Insert Screw | JJE42£T Shim Screw " F Wrench SPKN1203 LSP12RIL WO4R/L WM8x17
S3
ﬁ SPKN1203 LSP12R/L WO4R/L WM8x22 LOM5x%15.1 s
4
LNKT1506 LLN15R-ZR TL60 M4X15 L60 M3X8 T10T/T15T SPKN1504 LSP15R/L WO4R/L WM8x22

FH: BETDRBEWUSEKRINMNEEATIR. Note: Theinsertis Zccct brand. EE. BETIARINSEHMEET L. Note: The insert is Zcoct brand.

* 71BHEBIS Typeo

= E A R~F(mm) Dimension Adapter
* TIESBEE Type Type S T
| =
_ o0 | oo | od | L | & |
80 84 27 50 6

mm i i Adapter
iyf’:e (mm) Dimension =0 e EF03.12A27.080.04 4 A 1.
= | o0: | oo | oD | od | H | @ |

EF03.12B27.100.06 100 104 27 50 6 6 B 1.9

EF02.15B40.125.06 80 137 125 40 63 8 B 6 3.8
EF03.12B40.125.08 125 129 40 63 6 8 B 35

EF02.15B40.160.08 100 170 160 40 63 8 B 8 6.6
EF03.12B40.160.10 160 164 40 63 6 10 B 5.7

EF02.15C60.200.10 150 208 200 60 63 8 c 10 9.6
EF03.12C60.200.12 200 203 60 63 6 12 c 8.2

EF02.15C60.250.12 .
e 200 22 S v = 2 c 12 LE EF03.12C60.250.16 250 253 60 63 6 16 c 13.8

. .315. 250 ,
EF02.15D60.315.16 328 315 60 63 8 D 16 25.2 EF03.12D60.315.20 515 s18 o o . 20 5 vas
EF03.15A27.080.04 80 84 27 50 8 4 A 1.0
EF03.15B27.100.06 100 104 27 50 8 6 B 18
EF03.15B40.125.08 125 129 40 63 8 8 B 33
EF03.15B40.160.10 160 164 40 63 8 10 B 54
EF03.15C60.200.12 200 204 60 63 8 12 C 7.9
EF03.15C60.250.16 250 253 60 63 8 16 C 136
EF03.15D60.315.20 315 318 60 70 8 20 D 23.1

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#tEI7JB | MILLING TOOLS §AHI

AIA(UEEHITIR Indexable milling tools

mEEJI B ks 0 PRRK
EF04

* 7B K4 Spare

T1F Insert 71 K %247 Insert Screw R =F Wrench

SPK[]1204 TL60 M5X12 T20T

AR BENREWNSEKIMNEATIR . Note: Theinsertis Zccct brand.

* 71B#1EBIS Typeo

Type EAR(mm) pimension _.E-Oth
EF04.12A22.050.04 40 54 50 22 40 6 A 4
EF04.12A22.063.05 50 66 63 22 50 6 A 5 0.6
EF04.12A27.080.06 60 83 80 27 50 6 A 6 0.9
EF04.12B32.100.07 70 103 100 32 50 6 B 7 1.4
EF04.12B40.125.08 80 128 125 40 63 6 B 8 25

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§AHI %tHI7JE | MILLING TOOLS
mEtJIE kers 0 PR UEK)

EFO06

* 718 MK+ Spa

J1F Insert E X #2£T Clamping Screw #F Wrench

SPMT1806EDER TL60 M6X16 T25T

EFH: BETIBEZWSETEETIK Note: The insert is Kyocera brand.

* J1E MBS Type of

EAR(mm) pimension

= = N =
60 87 80 50 12.4

EF06.18A27.080.04 27 A 4 1.3
EF06.18B32.100.05 70 107 100 32 50 12.4 B 5 2.0
;IE_\ EF06.18B40.125.06 80 132 125 40 63 12.4 B 6 3.6
= EF06.18B40.160.08 100 167 160 40 63 12.4 B 8 5.0
EF06.18C60.200.10 150 207 200 60 63 12.4 C 10 7.7
EF06.18C60.250.12 180 257 250 60 63 12.4 C 12 12.0
EF06.18A27.080.06 60 87 80 27 50 12.4 A 6 1.3
EF06.18B32.100.07 70 107 100 32 50 12.4 B 7 1.9
% EF06.18B40.125.08 80 132 125 40 63 12.4 B 8 3.5
2 EF06.18B40.160.10 100 167 160 40 63 12.4 B 10 4.9
EF06.18C60.200.12 150 207 200 60 63 12.4 C 12 7.6
EF06.18C60.250.14 180 257 250 60 63 12.4 C 14 17.0

THREAKEFRRERB R #HEEERNBEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI
Eiﬁna Kr:75° 0 0 M) 0

EFO08

ap ]
O
x
|
I —
d
D2
* 718HF Spa
T1F Insert E %5247 Clamping Screw % F Wrench
SNGX1205ENN TL60M5X13 T20

8. BRENRSKHINGEG. BRE. =i&FEA. Note: Insert can be Zccct/Walter/Kolory brands.

* 71B#EEIS Type of

EF08.12A22.050.04 40 50 22 40 8 A 4 0.3
EF08.12A22.063.05 50 63 22 40 8 A 5 0.5
EF08.12A27.080.06 60 80 27 50 8 A 6 1.2
EF08.12B32.100.07 70 100 32 50 8 B 7 1.7
EF08.12B40.125.08 80 125 40 63 8 B 8 3.0
EF08.12B40.160.10 100 160 40 63 8 B 10 4.5

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§AHI #tHI7JE | MILLING TOOLS

Indexable milling tools FJ3EAEEHITIE

% J]E &R Matching Insert

% % EHZARSF(mm) Dimension
] -
SNGX1205ENN OO0 12.7 12.7 6.5 5.9 0.8
SNMX1205ANN ® e OO0OOO0 (] 12.7 12.7 6.5 5.9 0.8
A = Ommm r r ]
M THR OO0 m r
K BT B0 EEEEN e
BEsRE =/
MHEE. haE | oL
TR A
@ HEFETF Unallocatedstock O AT EETE Available stock B #:% 5 F Main application [ #R& B Extended application

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI

aIEAEEHIJJE Indexable milling tools

EEETI A krsee N O
PF88

“”H?@ 0
=
e 7 -
g1 O
d
D2
* 718K Spa
T1F Insert E %5247 Clamping Screw % F Wrench
SNGX1205PNN TL60M5X13 T20

i BENRSHMNSER. BRE. RigBEB. Note: Insert can be Zccct/Walter/Kolory brands.

* 71B#EEIS Typeo

Type HZA R~ (mm) Dimension
= | o | o0 | e [ H | ow |
40 50 22 40 10

PF88.12A22.050.04

PF88.12A22.063.06 50 63 22 40 10 A 6 0.5
PF88.12A27.080.07 60 80 27 50 10 A 7 1.2
PF88.12B32.100.08 70 100 32 50 10 B 8 1.8
PF88.12B40.125.10 80 125 40 63 10 B 10 3.1
PF88.12B40.160.12 100 160 40 63 10 B 12 8.8
PF88.12C60.200.14 160 200 60 63 10 C 14 7.2

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§AHI #tHI7JE | MILLING TOOLS

Indexable milling tools FJ3EAEEHITIE

* JI B Matching Insert

% % EHZAR~F(mm) Dimension
B S Type R||=
SNGX1205PNN OO0 12.7 12.7 6.5 5.9 0.8
SNMX1205ANN (I )I(0) (@)((6) (@) () 12.7 12.7 6.5 5.9 0.8
(P B OEmm r r .
M THR OO0 m r
! [ | HENEN A
kBT = OO o
HE4E a1.c—| J
MHREE. KEE [ | L
HERE R
@ E&FETF Unallocatedstock O FJ#EETF Available stock B #7F R A Main application  [] #RFE R A Extended application

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS
Indexable milling tools FI4&AIERHITIE
HEEETIR krooe . Q P RUNK HEEETIR knoo

PFO1 PFO2

* 7JEL K Spare * J1EL M Spare

J1 K Insert T1 K #24T Insert Screw #F Wrench TR Insert T R 4247 Insert Screw

TPKN2204 MYL8X18 S4 SEET09T308PER TL60 M3X7 TO8T

EH: RETRBWNSEZ#iNEEA TR, Note: Theinsertis Zccct brand. EH: BETHBEWNSE#%KMNEEATIR . Note: Theinsertis Zcect brand.

Type HZA R~ (mm) Dimension Type HZA R~ (mm) Dimension

- 2 ETH N B R = oo | o0 | 0d | n | & |
PF01.22A22.063.03 50 63 22 50 15 A 3 0.5 PF02.09A22.050.05 40 50 22 40 6.5
PF01.22A27.080.04 60 80 27 50 15 A 4 0.9 PF02.09A22.063.06 50 63 22 40 6.5 A 6 0.5
PF01.22B32.100.05 70 100 32 50 15 B 5 1.8 PF02.09A27.080.08 60 80 27 50 6.5 A 8 0.9
PF01.22B40.125.06 80 125 40 63 15 B 6 2.5 PF02.09B32.100.08 70 100 32 50 6.5 B 8 1.7
PF01.22B40.160.07 100 160 40 63 15 B 7 3.6 PF02.09B32.100.10 70 100 32 50 6.5 B 10 1.7

PF02.09B40.125.12 80 125 40 63 6.5 B 12 2.6

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HIJ7JE | MILLING TOOLS §AHI §AHI ##EI7JE | MILLING TOOLS
EEEJI R Koo Ny o PRUNK EERJIH Keoo: gy o PRUNK

PFO2

Type EARRH(mm) Dimension

5 | o | o0 | od | n | @ |
40 50 22 40 10

PF02.12A22.050.05

PF02.12A22.063.06 50 63 22 40 10 A 6 0.65

PF02.12A27.080.08 60 80 27 50 10 A 8 0.9

E PF02.12B32.100.10 70 100 32 50 10 B 10 1.2

B PF02.12B40.125.12 80 125 40 63 10 B 12 3.1

PF02.12C40.160.14 100 160 40 63 10 C 14 41

PF02.12C60.200.16 140 200 60 63 10 C 16 6.1
T K Insert ¥2E Threaded Sleeve | 71 Fr 24T Insert Screw #F wrench #F Wrench PF02.12C60.250.18 200 250 60 G 10 2 18 o

n PF02.12D60.315.24 250 315 60 63 10 D 24 21.6

SEET120308PER S12BSX SM0508 TL60 M3.5X10 TI5T S3.5

FH: BETREWNSEkRIMNEEHATIF . Note: The insert is Zccct brand.

* 71B#EEIS Type o
Category Type EH AR F(mm) Dimension Adapter Tmo‘c?th
#5) ] B0 W
40 50 22 40 10 3

PF02.12A22.050.03 A
PF02.12A22.063.04 50 63 22 40 10 A 4 0.65
PF02.12A27.080.04 60 80 27 50 10 A 4 0.9
E PF02.12B32.100.05 70 100 32 50 10 B 5) 1.2
B PF02.12B40.125.06 80 125 40 63 10 B 6 3.1
PF02.12C40.160.08 100 160 40 63 10 C 8 4.1
PF02.12C60.200.10 140 200 60 63 10 C 10 6.1
PF02.12C60.250.12 200 250 60 63 10 C 12 10.9
PF02.12A22.050.04 40 50 22 40 10 A 4 0.3
PF02.12A22.063.05 50 63 22 40 10 A 5) 0.65
té PF02.12A27.080.06 60 80 27 50 10 A 6 0.9
2 PF02.12B32.100.07 70 100 32 50 10 B 7 1.2
PF02.12B40.125.08 80 125 40 63 10 B 8 3.1
PF02.12C40.160.12 100 160 40 63 10 C 12 4.1

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#E|7JB | MILLING TOOLS

AJEE(IEEHITIE Indexable milling tools
EEET] B Keso

PFO3

* 7JJELMi¥ Spar

71K Insert 7] F#84T Insert Screw| 71 8 42%T Shim Screw 3" F Wrench 3" F Wrench
LNKT1506EN-ZR LLN15-ZR TL60 M4X12 L60 M3X7 T15T T10T
LNKT2007DN-ZR LLN20-ZR TL60 M4X15 L60 M3X7 T15T T10T

LNKT2510-ZR LLN25R-ZR TL60 M5X17 L60 M3.5X10 5T T20T

EH: RETHFEWSEZ#HRMESAREIIF . Note:The insertis Zccect brand

* 71E#MEES Type of

Category EHZA R~ (mm) Dimension Adapter
S B 0
e )
2

PF03.15B40.125.06 80 125 40 63 8 B 6 3.2
PF03.15C40.160.08 100 160 40 63 8 C 8 5.1

LN15
PF03.15C60.200.10 150 200 60 63 8 C 10 6.5
PF03.15C60.250.12 200 250 60 63 8 C 12 11.5
PF03.15D60.315.16 250 315 60 63 8 D 16 19.8

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§AHI %tHI7JE | MILLING TOOLS

Indexable milling tools FJ3AIEEHITIE
~€ OMO

* 71EHRES S

Category Type i
%51 ] &0
o [ e e | e = |
PF03.20B40.125.06 80 125 40 63 12 B 6 3.2
LN20 PF03.20C40.160.08 100 160 40 63 12 C 8 581
PF03.20C60.200.10 150 200 60 63 12 C 10 6.5
PF03.20C60.250.12 200 250 60 63 12 © 12 115
PF03.20D60.315.15 250 315 60 63 12 D 15 19.8
PF03.25B40.125.05 80 125 40 63 15 B 5) 3.2
PF03.25C40.160.06 100 160 40 63 15 C 6 5.1
LN25 PF03.25C60.200.08 150 200 60 63 15 (o] 8 6.5
PF03.25C60.250.10 200 250 60 63 15 C 10 115
PF03.25D60.315.12 250 Bill5) 60 63 15 D 12 19.8

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com

| SANT

148



#HI7J& | MILLING TOOLS §AHI §AMI #HI7JE | MILLING TOOLS
Indexable milling tools FI4EAIEEHITIR
EEEIIR Koo Ny o PRUEK TR Koo

PFO04 PFO06

* 7B K4 Spare * 718 K4 Spar

71K Insert T8 Shim 2 & Threaded Sleeve| 71 F 12 %T Insert Screw I F Wrench #F Wrench 71K Insert Y2 Threaded Sleeve| 7] F #£T Insert Screw #HF Wrench I F Wrench
R290-12T308 S12BSX SM0508 TL60 M3.5X10 T15T S35 SOMT12T308PEER S12BSX SM0508 TL60 M3.5X10 T15T S35
FH: BENRBEWNSELSETRIII A, Note: The insert is Sandvik brand. FH: BENREZWSE=ZEFMEIIF . Note: The insert is Mitsubishi brand.

* 71B#iEEIS Type of * 71EB#iEEIS Typeo

PF04.12A22.050.03 40 50 22 40 9 PF06.12A22.050.04 40 50 22 40 10

PF04.12A22.063.04 50 63 22 40 9 A 4 0.6 PF06.12A22.063.05 50 63 22 40 10 A 5! 0.5

PF04.12B27.080.04 60 80 27 50 9 B 4 0.9 PF06.12B27.080.06 60 80 27 50 10 B 6 0.6

PF04.12B32.100.05 70 100 32 50 9 B 5 1.3 PF06.12B32.100.07 70 100 32 50 10 B 7 14

PF04.12B40.125.06 80 125 40 63 9 B 6 2.7 PF06.12B40.125.08 80 125 40 63 10 B 8 2.2

PF04.12C40.160.08 100 160 40 63 9 C 8 4.1 PF06.12C40.160.12 100 160 40 63 10 C 12 BI5)

PF04.12C60.200.10 150 200 60 63 9 (o} 10 6.2 PF06.12C60.200.16 150 200 60 63 10 C 16 6.2

PF04.12C60.250.12 180 250 60 63 9 C 12 10.7 PF06.12C60.250.18 180 250 60 63 10 C 18 10.7

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#tEI7J2 | MILLING TOOLS

aIEAEEHIJJE Indexable milling tools
EHTIE Koo

PFO7

§AHI $tHI7JE | MILLING TOOLS
EfEJJE Keoo

PFO0S8

* 71ELHi4 Spare * 7B K4 Spar

71 K Insert T8 Shim #2725 Threaded Sleeve | 71 #$T Insert Screw " F Wrench " F Wrench 1K Insert TIFB24T Insert Screw " =F Wrench
7 R
-
XDMT120408PDER S12BSX SM0508 TL60 M3.5X10 T15T S35 LNMX170808PNSR TL60 M4X12 T15T
FH: BENFEWSEZEERMBEIIF. Note: The insert is Sumitomo brand. M BEDRBENSZELRETIF . Note: The insert is Sumitomo brand.

* J1AHERS * 7JE#EES Type
Type EHZARR~F(mm) Dimension 'zianpter E;;h Type HAR(mm) Dimension A;iaupter J'I'ho;;h
gg =] 22 5] gg =] £9 18]
- o | e | od | W | @ | - o | o0 | o | W | Ex
40 50 22 40 10 4 60 80 27 50 14

PF07.12A22.050.04 PF08.17B27.080.05 B 5
PF07.12A22.063.05 50 63 22 40 10 5 0.5 PF08.17B32.100.06 70 100 32 50 14 B 6 1.8
PF07.12A27.080.06 60 80 27 50 10 6 1.0 PF08.17B40.125.06 80 125 40 63 14 B 6 24
PF07.12B32.100.07 70 100 32 50 10 B 7 1.5 PF08.17B40.160.08 100 160 40 63 14 B 8 4.0
PF07.12B40.125.08 80 125 40 63 10 B 8 25 PF08.17C60.200.10 150 200 60 63 14 C 10 6.5
PF07.12C40.160.10 100 160 40 63 10 C 10 45 PF08.17C60.250.12 180 250 60 63 14 C 12 12.3
PF07.12C60.200.12 150 200 60 63 10 C 12 8.3

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AMI §nu1 #HI7JE | MILLING TOOLS
HiETIR  knoo ~s o PRUNK) mEEJTIE  keoo

PFO9 PF10

* T B M4 Spare

J1F Insert 71 K %247 Insert Screw " =F Wrench

* 7)1 BB Spare

T1R Insert 71 4247 Insert Screw " =F Wrench WNMU080608 LRI 201

-~

R BETNRSTEEMEBESR. Note:Replaceable with Kyocera brand inserts.

XNEX0806 TL60 M4X12 T15T
T BETREWSZLBMETIF . Note: The insert is SECO brand. “ J1EHiRRS

Type £ R~F(mm) Dimension Adapter| Tooth
32 L3k
/2 = o0 ] w T |
* 7NEHEES L R
PF10.08A22.063.03 63 47 22 40 104 8 6.3
Type HZA R~ (mm) Dimension Adapter| Tooth

2

PF10.08B32.100.05 100 70 32 50 14.4 8 8 B 5 1.3
PF09.08A22.050.05 40 50 22 40 6 A 5

PF10.08B40.125.06 125 80 40 63 16.4 8 9 B 6 25
PF09.08A22.063.06 50 63 22 40 6 A 6 0.5

PF10.08B40.160.08 160 100 40 63 16.4 8 9 B 8 3.8
PF09.08B27.080.07 60 80 27 50 6 B 7 1.0

PF10.08C60.200.10 200 150 60 63 25.7 8 14 C 10 6.0
PF09.08B32.100.08 70 100 32 50 6 B 8 1.8

PF10.08C60.250.12 250 180 60 63 25.7 8 14 C 12 8.4
PF09.08B40.125.11 80 125 40 63 6 B 11 24

PF10.08A22.063.04 63 47 22 40 10.4 8 6.3 A 4 0.5
PF09.08B40.160.12 100 160 40 63 6 B 12 3.8

PF10.08A27.080.05 80 60 27 50 12.4 8 6.3 A 5 1.0
PF09.08C60.200.16 150 200 60 63 6 C 16 6.2

PF10.08B32.100.07 100 70 32 50 14.4 8 8 B 7 1.3

PF10.08B40.125.08 125 80 40 63 16.4 8 9 B 8 25

PF10.08B40.160.10 160 100 40 63 16.4 8 9 B 10 3.8

PF10.08C60.200.12 200 150 60 63 25.7 8 14 C 12 6.0

PF10.08C60.250.14 250 180 60 63 257 8 14 C 14 8.4

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#EI7J2 | MILLING TOOLS §AHI

ATEEEEHIJTIE Indexable milling tools

* 7] B %R Matching Insert

% EZRR~F(mm) Dimension
WNMUO80G60SPN-GM @ 8.7 14.02 6.65 0.8
WNMUOS0G08EN-GM ® ®@0OO0O0 OO 8.7 14.02 6.65 6.2 0.8
P E Omm mE
M TR OO0 m | e
'K EE E EEEE r‘ e
aesRE
WAEE. %AR | i s
HEAR o
® HE&FETF Unallocatedstock O AIFEETE Available stock M #% N A Main application [] #F& R F Extended application

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§AHI $EHI7JE | MILLING TOOLS

EHITIR weso ~€ O"O

PF11

(e}
o ESHar————f—If4-— 3
L ®
ap
L1
L
*ﬂamﬁsmn
s
XNGUO090508PRHDE TL60 M4X10 T20

A BETRSH%ilEA. $$EREA. Note:Replaceable with Zccct/Taegutec brand inserts.

* 7IEHKES

Type EZA R~ (mm) Dimension Adapter  Tooth

1
_ oo | od | L i@ ks

PF11.09Z32.032.02 32 32 160 40 9.2 z 2

PF11.09232.040.03 40 32 200 40 9.2 4 3 0.4
PF11.09W32.032.02 32 32 110 40 9.2 w 2 0.3
PF11.09W32.040.03 40 32 120 40 9.2 W 3 0.4
PF11.09W32.040.04 40 32 120 40 9.2 i 4 0.5

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#EI7J2 | MILLING TOOLS

ATEEEEHIJTIE Indexable milling tools

EETIE  weso

PF11

* 7B K4 Spare

T1F Insert

XNGUO090508PRHDE

M BMENKS#%iMNeEAE. B =EA. Note:Replaceable with Zccct/Taegutec brand inserts.

* 71E#ERS Type

Type

Bs
PF11.09A22.050.05
PF11.09A22.063.06
PF11.09A27.080.07
PF11.09B32.100.08

PF11.09B40.125.11

PF11.09B40.160.12

71 5 #24T Insert Screw

63

80

100

125

160

“

TL60 M4X10

HARF(mm) Dimension

T R T BT
40 50 22 40 9.2

22

27

32

40

40

40

50

50

63

63

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

9.2

9.2

9.2

9.2

9.2

#H = 71 A

l..-iltg; GmQ

iR =F Wrench

Tooth
HH

A 5
A 6
A 7
B 8
B 1"
B 12

§AHI $EHI7JE | MILLING TOOLS

Indexable milling tools BIEE{7EkEITIE

% J]E %R Matching Insert

8= Type

L B 10l2dS

XNGUO90508PRHDE-M 13.05 6.74 2.0 0.8 9.2

M THR O N °

K BT O —+
HesE

MAAE. %hES |

t

,,,,,,,,,,,,,,, _

ERER R
® E&EPFETFE Unallocatedstock O FIEETFE Available stock B #7F R A Main application  [] #AFE R A Extended application

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HIJ7J& | MILLING TOOLS §nuI §nuI #HI7JE | MILLING TOOLS

aEEf7EEEIJTJE Indexable milling tools Indexable milling tools BJ4EEEEITIE

7] R ECOVEOe@ o0 k7] B ECOVOe@ oo
RFO1 RFO1

* 71EBHiF Spar * J1ELMi{4 Spare

J1F Insert 71 Fr #24T Insert Screw 3" =F Wrench T1F Insert 71 K #24T Insert Screw iR =F Wrench

RCKT10T3MO-DM TL60 M4X10 Ti5 RCKT1204MO-DR TL60 M3.5X10 T15T
RCKT1204MO-DR TL60 M3.5X10 T15 RCKT1606MO-DR TL60 M5X12 T20T
EH: BETDRFEBWUSERMEAREIIF . Note: The insert is Zcect brand. RCKT2006MO-DR TL60 M6X16 T25T

FH: BENRBWSEKRMNSEARMIIF,  Note: Theinsertis Zccct brand.

* 71B##EEIS Type of *x 71EMBEST

Type AR (mm) Dimension (EEHET Type EARR~F(mm) Dimension Al

] = *%D % ] = *&D
— oo | Ll v e R _ | oo | od | H | oo | @ k=
5 25 20 100 30 5 6 63 22 50 50 6

RF01.10W20.025.02 W 2 0.2 RF01.12A22.063.04

RF01.10W25.032.02 5 32 25 120 35 5 W 2 0.5 RF01.16B27.080.05 8 80 27 50 60 8 B 5 0.7

RF01.12W32.040.03 6 40 32 120 40 6 W 3 0.7 RF01.16B32.100.06 8 100 32 50 70 8 B 6 1.2

RF01.12W32.050.03 6 50 32 120 40 6 W 3 0.8 RF01.20B40.125.07 10 125 40 63 80 10 B 7 22
RF01.20B40.160.08 10 160 40 63 100 10 B 8 4.2

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#EI7J2 | MILLING TOOLS §AHI

ATEEEEHIJTIE Indexable milling tools

8k 7] 8 ECOVOe@ o0
RF02

* 71 B Hi4 Spare

J1F Insert 71 5 %247 Insert Screw | =F Wrench

RDKW0803MO TL60 M3X7 T10
RDKW10T3MO TL60 M4X10 T15
RDKW1204MO TL60 M4X10 T15

B BETDREWNSERMNEEARIMEII . Note: The insert is Zccct brand.

* 71B#iEEIS Type of

Type HZAR~T(mm) Dimension

=
il = 5

4]0} ad L L1 ap
RF02.08W16.016.02 4 16 16 100 25 4
RF02.08W25.025.02 4 25 25 100 30 4
RF02.10W32.032.02 5 32 32 120 40 5
RF02.12W32.040.03 6 40 32 120 40 6
RF02.12W32.050.04 6 50 32 120 40 6

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§AHI $EHI7JE | MILLING TOOLS

EHTIR CECOVOP OO

RFO02

* J1EHiF Spare

T1R Insert 71 K 8247 Insert Screw " =F Wrench

RDKW1204MO TL60 M4X10 WD204 T15T
RDKW1605MO TL60 M5X12 WD208 T20T
RDKW2006MO TL60 M6X16 T25T

R BENRBWSZEKRMEATIF. Note: The insert is Zccct brand.

* J1E#EBISType of M
Type HZAKR<F(mm) Dimension A:;ger E?th

a2 R @D @d H @D2 ap st -
RF02.12A22.050.03 6 50 22 40 40 6 A 3
RF02.12A22.063.04 6 63 22 50 50 6 A 4 05
RF02.16B27.080.05 8 80 27 50 60 8 B 5 1.2
RF02.16B32.100.06 8 100 32 50 70 8 B 6 1.6
RF02.20B40.125.06 10 125 40 63 80 10 B 6 1.9
RF02.20B40.160.07 10 160 40 63 100 10 B 7 37

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AJ%&AI5HITIR Indexable milling tools Indexable milling tools RIFAZHEHITIR

4 7] 8 ECOVOe@ o0 st 7] R ECOVO@ o0
RFO3 RF04

* 71 ELHt#4F Spare * 71 W4 Spare

T1F Insert T1 i #247 Insert Screw EHR Clamp I F Wrench J1F Insert 71 K %247 Insert Screw

RPMT1204MO TL60 M4X10 WD204 T15T QPMT120440 TL60 M4X10 T15T

RPMT1606MO TL6O M&X12 WD208 T20T FH: BEDFEWSEERMEIIF. Note: The insert is Sumitomo brand.

A METDKEEWNSE=%RMIIK . Note: The insert is Mitsubishi brand.

* 71B#HERIS Typeo * 71E##EEIS Type of

AR~ (mm) Dimension E A R~F(mm) Dimension
RF03.12A22.050.04 6 50 22 40 40 6 A 4 0.4 RF04.12A22.050.04 40 50 22 40 A 4 0.2
RP12  RF03.12A22.063.05 6 63 22 45 50 6 A 5 0.7 RF04.12A22.050.05 40 50 22 40 A 5 0.2
RF03.12B27.080.06 6 80 27 50 60 6 B 6 12 RF04.12A22.063.05 50 63 22 40 A 5 0.4
RF03.16A22.063.04 8 63 22 50 40 8 A 4 0.7 RF04.12A22.063.06 50 63 22 40 A 6 0.4
RP16  RF03.16A27.080.05 8 80 27 50 60 8 A 5 12 RF04.12A27.080.06 60 80 27 50 A 6 0.9
RF03.16B32.100.06 8 100 32 63 70 8 B 6 16

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS
F BT ke P FEHT] ke CQPOOY™» omdo

PEO1 PEO1

[ ¢D a
0]
L
Ll
T
[m] °
ASY ASY
A v e
@ D2

* 7] ELH$4¥ Spare * J1ELMHE Spare

T1R Insert 71 i #24T Insert Screw R F Wrench J1 K Insert 71 F 4247 Insert Screw #RF wrench
5
APKT11T3[ TL60 M2.5X6.5 TO8 APKT11T30 TL60 M2.5X6.5 TO8
APKT1604] TL60 M4X10 T15 APKT1604[1[] TL60 M4X10 T15

* 71E KBRS Type of

=
* JIEMEES
#3 ERC) #0
12 16 85 25 105 23 s

v
PE01.11216.012.01 2z 1o "o | e | oo | v | = | ma
PE01.11Z16.016.02 16 16 90 25 10.5 z 2 0.1 PEO1.11A22.050.06 50 22 40 40 11
PE01.11220.020.02 20 20 100 30 10.5 z 2 0.2 AP1i  PE01.11A22.063.08 63 22 50 40 11 A 8 0.6
PE01.11225.025.03 25 25 115 35 105 z 3 0.4 PEO1.11A27.080.08 80 27 60 50 11 A 8 12
AP11 PE01.11232.032.04 30 32 125 40 105 z 4 07 PE01.11B32.100.10 100 32 70 50 11 B 10 1.7
St o = 16 85 o 105 W 1 0.1 PE01.16A22.050.05 50 22 40 40 155 A 5 03
PE01.11W16.016.02 16 16 % o5 10.5 w N 0.1 PE01.16A22.063.06 63 22 50 40 155 A 6 05
PEO01.11W20.020.02 o 20 100 = 105 w 2 02 AP16  PEO1.16A27.080.07 80 27 60 50 155 A 7 1.1
PE01.11W25.025.03 o5 o5 115 35 105 W 3 04 PEO1.16B32.100.08 100 32 70 50 155 B 8 1.6
PEO1.11W32.032.04 32 32 125 e 105 W 07 PE01.16B40.125.10 125 40 80 63 155 B 10 3.2
PE01.16Z25.025.02 25 25 115 35 15.5 z 2 0.4 PE01.16B40.160.10 160 40 100 63 15.5 B 10 6.3
PE01.16232.032.03 32 32 125 40 15.5 z 3 0.7
EH: METREWNSEKMNESARIETIF . Note: The Insert Is Zccct brand.
AP16  PE01.16232.040.04 40 32 130 42 15.5 z 4 0.8
PEO1.16W25.025.02 25 25 115 35 15.5 w 2 0.4
PEO1.16W32.032.03 32 32 125 40 155 w 3 07
PEO1.16W32.040.04 40 32 130 42 15.5 w 4 08

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AIEE(75RHITIB Indexable milling tools Indexable milling tools BJ%&{UEEHITIE

FEEET] Keso CQPOQ PoOvoD 7 BT Keso CQPCOOQ PonoD
PEO2 PEO2

Ll
op

@D
@a

* 71ELHi¥ Spare * J1ELMHE Spare

TR Insert 71 5 %247 Insert Screw #|F Wrench T Insert 71 K %247 Insert Screw #HF Wrench

W ther y
bt P

APKT11T3 TL60 M2.5X6.5 T08 APKT11T30I] TL60 M2.5X6.5 T08
EH: BETDRBEWNSERNEEARMIIF Note: The insertis Zccct brand. R BENRBNSZKMNEEARIETIF . Note: The insertis Zecct brand.

* 71B#iEEIS Type of * 71E#MEBS Type of

Type BARS(mm) Dimension Adapter Type EHZARSF(mm) Dimension

1 ]
= | oo | e | L | u | @ | gx - | o0 | ed | oo | H | @
20 20 120 45 29 50 22 40 58 39

PE02.11W20.020.01 w 1 0.3 PE02.11A22.050.04

PE02.11W25.025.02 25 25 130 55 39 w 2 0.4 PE02.11A27.063.04 63 27 50 58 39 A 4 0.9
PE02.11W32.032.02 32 32 140 65 48 w 2 0.7 PE02.11B32.080.05 80 32 60 63 39 B 5 1.3
PE02.11W32.040.02 40 32 150 75 55 W 2 1.3 PE02.11B40.100.06 100 40 70 63 39 B 6 2.0

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AJ%&AI5HITIR Indexable milling tools Indexable milling tools RIFAZHEHITIR

BRTIEL ke CPOQPoncO BT ke CPOOPouoD
PEO3 PEO4

Ll

@D

(o))

op

* 71 ELH{4 Spare * J1ELHi{4 Spare

T1R Insert 71 i #24T Insert Screw iR =F Wrench J1F Insert 71 K 42457 Insert Screw " F Wrench

APMT113504PDER TL60 M2.5X6.5 T08 LDOILI15040100 TL6O M3.5X12 BE

APMT160408PDER TL60 M4X10 T15
EH: METRBWSEHRNXNGRIEIIF . Note: The insert is Ceratizit brand.

R BEDHEBISEHRIMNEA R TIF, Note: The insertis Zccct brand.

* J1EHMERIE Type of mi * 71E##EAIS Type o

EARF(mm) Dpimension HZA R~F(mm) Dimension

AP11 PE03.11W25.025 25 25 130 40 20 w 3 0.5 PE04.15A16.040.04 35 40 16 40 13 A 4 0.3
AP16 PE03.16W32.032 32 32 140 50 30 w 3 0.8 PE04.15A22.050.05 40 50 22 40 13 A 5 0.5
PE03.16W32.040 40 32 150 50 30 w 3 1.0 PE04.15A22.063.06 50 63 22 40 13 A 6 0.9
PE04.15B27.080.07 60 80 27 50 13 B 7 1.7

PE04.15B32.100.08 70 100 32 50 13 B 8 1.7

PE04.15B40.125.10 80 125 40 63 13 B 10 26

PE04.15B40.160.12 100 160 40 63 13 B 12 35

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

HIRTIR wreo C@POO™» oo FIETIR Ko CPOOD ona

PEOS PEOS

Ll

oR,

[2]>]
[.3-]

* 71 ELMI4 Spare * 71ELHiF Spa

T1F Insert 71 K #2847 Insert Screw #F Wrench T1F Insert 71 R 85T Insert Screw #WF Wrench
- |5 -
= ~ L :
APKT1705PER TL60 M4X10 T15 APKT1705PER VLEDUEE st
FH: BEDREWNSEHERRMEIIA, Note: The insert is Taegutec brand. EH: BETNRZUSERHERTMEIIR. Note: The insertis Taegutec brand.

* 7]JE#EBIS Type of * J1B#1#ERIS Type of

Type EAR (mm) Dimension Adapter ¢ Type AR~ (mm) Dimension Adapter E?th
0 ) 0O g
4

| =
— I R I O oo | o0 | e kL |
25 25 100 35 14 35 40 16 40 14

PE05.17W25.025.02 W 2 0.3 PE05.17A16.040.04 A

PEO05.17Z25.025.02 25 25 200 45 14 z 2 0.5 PEO05.17A22.050.05 40 50 22 40 14 A 5 0.4

PE05.17W32.032.03 32 32 110 40 14 w 3 1.2 PE05.17A22.063.06 50 63 22 40 14 A 6 0.5

PE05.17Z32.032.03 32 32 200 45 14 z 3 1.8 PEO05.17A27.080.07 60 80 27 50 14 A 7 1.3

PE05.17W32.040.04 40 32 115 45 14 W 4 24 PE05.17B32.100.08 70 100 32 50 14 B 8 1.5

PEO05.17Z32.040.04 40 32 250 45 14 z 4 3.2 PEO05.17B40.125.09 80 125 40 63 14 B 9 3.9
PE05.17C40.160.10 100 160 40 63 14 C 10 5.6
PE05.17C60.200.12 150 200 60 63 14 C 12 7.0

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#EEI7J2 | MILLING TOOLS §AHI

AI(UEEHITIR Indexable milling tools

HETIR ko CPOQ PONGO
PEO6

* 71ELHH¥ Spa

T1H Insert T1 K #24T Insert Screw #R=F Wrench

L]

AXMT1235][JPEER TL60 M3X7 TO8

AXMT1705J[JPEER TL60 M4X10 T15

FH: BENRFBWSZEERARBEIIF . Note: The insert is Sumitomo brand.

* J1B#EEIS Type of

PE06.12Z16.016.02.S 16 16 100 25 10 z 2 0.3
PE06.12Z16.016.02.M 16 16 145 25 10 z 2 0.5
PE06.12Z20.020.03.S 20 20 110 30 10 4 3 0.6
PE06.12Z20.020.03.M 20 20 150 40 10 z 3 0.8

AX{2 PE06.12Z25.025.04.S 25 25 120 35 10 4 4 1.0
PE06.12Z25.025.04.M 25 25 170 50 10 z 4 1.5
PE06.12Z32.032.05.S 32 32 130 40 10 4 5 2.0
PE06.12Z32.032.05.M 32 32 180 60 10 z 5 2.4
PE06.12Z32.040.06.S 40 32 150 30 10 z 6 25
PE06.12Z32.040.06.M 40 32 180 30 10 z 6 3.2
PE06.17Z25.025.02.S 25 25 120 35 14 z 2 1.0
PE06.17Z25.025.02.M 25 25 170 50 14 z 2 1.5

AX17 PE06.17Z32.032.03.S 32 32 130 40 14 4 3 2.0
PE06.17232.032.03.M 32 32 180 60 14 z 3 2.4
PE06.17Z32.040.04.S 40 32 170 50 14 z 4 25
PE06.17Z32.040.04.M 40 32 220

THRAKEFE RSB X #HEEZEEMNEwww.hnsant.com

§AUI #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

FRIAR € G @ B ONDO
PEOG6

P D a
o
y
T
A
o d
@ D2

* 71ELHH4 Spa

TR Insert 71 K #24T Insert Screw " F wWrench

%

AXMT1235[][JPEER TL60 M3X7 TO8T

AXMT1705JCJPEER TL60 M4X10 T15T

FH: BENRBWSZERAMRERIIA . Note: The insert is Sumitomo brand.

* J1E#1HBIS Type of Milling

Type EHZARSF(mm) Dimension Adapter

s @D2 H ?%E'l
oo | oo | oz | H | » | ms
PE06.12A16.040.06 40 16 35 40 10

AX12  pE06.12A22.050.07 50 22 40 40 10 A 7 0.3
PE06.12A22.063.08 63 22 50 40 10 A 8 0.5
PE06.17A16.040.04 40 16 35 40 14 A 4 0.3
PE06.17A22.050.05 50 22 40 40 14 A 5 0.3
AX17  PE06.17A22.063.06 63 22 50 40 14 A 6 0.5
PE06.17A27.080.07 80 27 60 50 14 A 7 1.7
PE06.17B32.100.08 100 32 70 50 14 B 8 3.2
PE06.17B40.125.09 125 40 80 63 14 B 9 6.3

THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

FIRTIR weeo CPOOPon0O FIRTIS weeo CPOOPonoD

PEO7 PEOS8

Ll

@D
foXe]

ap

* 71 K4 Spa * 71K Spa

J1F Insert 71 K %247 Insert Screw iR F Wrench

J1 K Insert 7] K #24T Insert Screw " F Wrench

b

i,

APMT1035JCJPDER TL60 M2.5X6.5 Tos ADMTO080304R TL60 M2.5X6.5 To8
APMT1605JCJPDER TL60 M3.5X10 Ti5 ADMT120408R TL60 M3X8 T10
B RETREWSEMERGMTIE . Note: The insert is Sumitomo brand. E: REDREWSERRBBETIF. Note: The insert is Walter brand.

* J1E#H#ERIS Type of * J71E#EBIE Type of Mill

= m| # - 0O

X i
PE07.10Z20.020.03.S 20 20 130 35 17 z 1 0.3 PE08.08W16.016.02 16 16 90 34 8 w 2 0.1
PE07.10Z20.020.03.M 20 20 185 60 17 z 1 0.5 PE08.08W20.020.03 20 20 20 39 8 W 3 0.2
AP10  PE07.10Z25.025.04.S 25 25 140 40 26 z 1 1.2 ADOS PE08.08W25.025.04 25 25 100 43 8 w 4 0.3
PE07.10Z25.025.04.M 25 25 220 75 26 z 1 1.8 PE08.08W32.032.05 32 32 110 49 8 w 5 0.6
PE07.10Z25.030.04.S 30 25 150 50 35 z 1 2.4 PE08.08W32.040.06 40 32 110 40 8 W 6 0.7
PE07.10Z25.030.04.M 30 25 230 50 35 z 1 32 PE08.08216.016.02 16 16 180 34 8 z 2 0.3
PE07.16232.032.04.S 32 32 150 50 39 z 1 0.3 PE08.08220.020.02 20 20 200 39 8 z 2 05
PE07.16232.032.04.M 32 32 230 90 39 z 1 0.5 PE08.08225.025.03 25 25 200 43 8 z 3 0.7
AP16  PE07.16232.035.04.S 35 32 150 50 39 z 1 1.2 PE08.12W25.025.03 25 25 100 43 11.5 w 3 0.35
PE07.16232.035.04.M 35 32 230 50 39 z 1 1.8 PE08.12W32.032.04 32 32 110 49 11.5 w 4 0.6
PE07.16232.040.04.S 40 32 160 50 39 z 1 2.4 AD12 PE08.12W32.040.05 40 32 110 40 115 w 5 0.7
PE07.16Z32.040.04.M 40 32 240 50 39 z 1 32 PEO08.12225.025.03 25 25 200 43 11.5 z 3 0.7
PE08.12232.032.04 32 32 250 49 1.5 z 4 1.5
PE08.12232.040.05 40 32 250 45 115 z 5 1.6

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AIEAUHHEITIR Indexable milling tools Indexable milling tools RJ#&{UsEHITIE

FRTIR oo CPOOPon0O FRTIR oo CPOOPonoO
PEOS8 PEO9

* 718 Hi* Spa * 71E K Spa

TR Insert 71 R 4247 Insert Screw " F Wrench T (heam 71 K 3247 Insert Screw #]F Wrench

ADMTO080304R TL60 M2.5X6.5 TO8 R390-11T3[J[] TL60 M2.5X6.5 TO8
ADMT120408R TL60 M3X8 T10 R390-1704[] TL60 M3.5X10 T15
ADMT160608R TL60 M4X10 T15 FH: BETNREZWSELHETI R, Note: The insert is Sandvik brand.

FH: BETDRFEWSERR4S T F,. Note: The insert is Walter brand. % 71E#iRBIS Type of

Type EHZA R~ (mm) Dimension Adapter

= n %5 mg o
* TLAMHELS Type of miling I T T R T
Type E A R~F(mm) Dimension Adapter PE09.11Z216.016.02 16 16 100 20 10 Z 2 0.3
=] S
Z
40 16 35 40 8 .

PE0S.08A16.040.06 PE09.11225.025.03 25 25 120 32 10 z 3 05

ADo8 PE08.08A22.050.07 50 22 40 40 8 A 7 0.38 PE09.11232.032.03 32 32 130 40 10 z 3 0.8
PEO0S.12A16.040.05 0 16 35 20 115 A 5 02 i PE09.11232.040.04 40 32 170 40 10 z 4 17
PE08.12A22.050.06 50 20 40 40 115 A 6 0.3 PE09.11W16.016.02 16 16 73 25 10 W 2 0.3
PE08.12A22.063.07 63 20 50 40 115 A 7 0.6 PEO09.11W20.020.02 20 20 81 25 10 w 2 0.4

ADT2 PE08.12A27.080.08 = . a0 50 e A 8 » PE09.11W25.025.03 25 25 88 32 10 w 3 05
PEO0S.16A16.040.04 40 16 35 20 15 A . 02 PE09.11W32.032.03 32 32 100 40 10 w 3 0.8
PE08.16A22.050.05 50 20 40 40 15 A 5 0.3 PE09.11W32.040.04 40 32 110 40 10 W 4 1.7

apjg PEO8-16A22.063.06 63 o0 50 20 15 A 5 06 PE09.17225.025.02 25 25 120 32 15.7 z 2 04
PE08.16A27.080.07 80 o7 60 50 15 A 7 10 PE09.17Z32.032.03 32 32 130 40 15.7 4 3 0.8
PE08.16B32.100.08 100 32 70 50 15 B 8 16 17 | PE09.17232.040.04 40 82 170 40 157 z 4 0.9
PE08.16B40.125.10 125 40 80 63 15 B 10 3.4 PE09.17W25.025.02 % % ) i2 e W 2 0.4
PE08.16C40.160.12 160 0 100 3 15 c i 43 PE09.17W32.032.03 32 32 100 40 15.7 w 3 0.8
PE09.17W32.040.04 40 32 110 40 15.7 w 4 0.9

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#HI7J& | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS

AJ%&AI5HITIR Indexable milling tools Indexable milling tools RIFAZHEHITIR

FIRTIR weeo CPOOPon0D FAIRTIE weee CPOOIonoD
PEO9 PE10

L1

@D
@d

ap

* 71EHHE Spare * 71 B4 Spare

J1 K Insert 71 5 4247 Insert Screw #7=F Wrench T1 K Insert 71 K 247 Insert Screw #F Wrench

R390-11T30 TL60 M2.5X6.5 TO8 BDMT11T3CIER TL60 M2.5X6.5 TO8
R390-17041 TL60 M3.5X10 T15 BDMT1704JJER TL60 M4X10 T15
EH: BETRBNSE LSERREIIF . Note:The insert is Sandvik brand. ER: REJNFEWNSERERMIIE . Note:The insert is Kyocera brand.

* 71B KRS Type o * 71EMBES

HZARSF(mm) Dimension Adapter HAR~H(mm) Dimension Adapter
0 0
B i
PE09.11A16.040.04 40 16 35 40 10 A 4 0.4 PE10.11Z16.016.02 16 16 100 30 10 4 2 0.2
» PE09.11A22.050.05 50 22 40 40 10 A 5 0.5 11 PE10.11Z20.020.03 20 20 110 32 10 4 3 0.3
PE09.11A22.063.06 63 22 50 40 10 A 6 0.6 PE10.11Z25.025.03 25 25 120 32 10 4 3 0.3
PE09.11A27.080.07 80 27 60 50 10 A 7 0.9 PE10.11Z32.032.04 32 32 130 40 10 4 4 0.4
PE09.17A16.040.03 40 16 35 40 15.7 A 3 0.3 PE10.17Z25.025.02 25 25 120 36 15.7 4 2 0.3
PE09.17A22.050.04 50 22 40 40 15.7 A 4 0.4 i PE10.17Z32.032.03 32 32 130 40 15.7 4 3 0.4
17 PE09.17A22.063.05 63 22 50 40 15.7 A 5 0.6 PE10.17Z32.040.04 40 32 150 40 15.7 4 4 0.5
PE09.17A27.080.06 80 27 60 50 15.7 A 6 0.8
PE09.17B32.100.07 100 32 70 50 15.7 B 7 1.0
PE09.17B40.125.08 125 40 80 63 15.7 B 8 2.7

| SANT

—h

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS

AJ%&AI5HITIR Indexable milling tools Indexable milling tools RIFAZHEHITIR

FIRTIE weeo CPOOPoN0O FAIRTIE weee CPOOPon0O
PE10 PE11

* 71 EHHE spare * 71 B4+ Spare

T1F Insert 71 24T Insert Screw R F Wrench TR Insert 71 K 24T Insert Screw #=F Wrench

BDMT11T3[]JER TL60 M2.5X6.5 TO8 APKT100304PDER TL60 M2.5X6.5 TO8
BDMT1704LJLJER TL60 M4X10 T15 E: RETEBWSZFEGERMEIIE, Note:Theinsertis Iscar brand.
FHE: BETNFEWSEZETEMMEIIF . Note:The insert is Kyocera brand.

* 71EHHEBIS Type of Milli * 71AEMEES T

Type EA R (mm) Dimension Adapter

| = #0
% [ oo [ oo [ ez [ [ » | g
50 22 40 40 10

HZAR~T(mm) Dimension

PE10.11A22.050.07 PE11.10A16.040.05 40 16 35 40 8 A 5 02
11 PE10.11A22.063.08 63 22 50 40 10 A 8 06 PE11.10A22.050.06 50 22 40 40 8 A 6 03

PE10.11A27.080.10 80 27 60 50 10 A 10 0.9 AP10  PE11.10A22.063.07 63 22 50 40 8 A 7 06

PE10.17A22.050.05 50 22 40 40 15.7 A 5 0.4 PE11.10A27.080.08 80 27 60 50 8 A 8 1.1
. PE10.17A22.063.06 63 20 50 40 15.7 A 6 06 PE11.10B32.100.10 100 32 70 50 8 B 10 16

PE10.17A27.080.08 80 o 60 50 15.7 A 8 058

PE10.17B32.100.09 100 32 70 50 15.7 B 9 15

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#EEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
FTETIE ke

PE12

SANT
€ @ ovoo

* 71E M4 Spare

J1 K Insert 71 K 5247 Insert Screw #F Wrench

N |

LN[IX151008PNR TL60 M4X10 T15T

I BENHRENSERERFERMIIA ., Note:The insertis Korloy brand.

* 71EMERIS Type of M

Type EARR~H(mm) Dimension Adapter

2T
PE12.15A22.050.04 50 22 40 40 14 A
PE12.15A22.063.06 63 22 50 40 14 A 6 0.6
PE12.15A27.080.07 80 27 60 50 14 A 7 1.2
PE12.15B32.100.8 100 32 70 50 14 B 8 2.4
PE12.15B40.125.10 125 40 80 63 14 B 10 3.8
PE12.15B40.160.12 160 40 100 63 14 B 12 4.6

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE
€ @ ovoo

#H o= 7 A

BHETIE keeo
PE14

* 7B Spare

T1 K Insert 71 K 5247 Insert Screw #=F Wrench

~

AXMT11T308 TL60M2.5X6.5 TO8

E: BETDRSH%MEA. WHEM. Note:Replaceable with Zccct/Sandvik brand inserts.

* 71EMEBIS Type of M

Tee EHZARR~F(mm) Dimension

) =
i oo | oo | | | &
16 16 20 10

Adapter
0O

PE14.11Z16.016.02 100 Z 2 0.3
PE14.11Z20.020.02 20 20 110 25 10 Z 2 0.4
PE14.11Z25.025.03 25 25 120 32 10 z 3 0.5
PE14.11Z32.032.03 32 32 130 40 10 Z 3 0.8
PE14.11Z32.040.04 40 32 170 40 10 Z 4 1.7
PE14.11W16.016.02 16 16 73 25 10 W 2 0.3
PE14.11W20.020.02 20 20 81 25 10 W 2 0.4
PE14.11W25.025.03 25 25 88 32 10 w 3 0.5
PE14.11W32.032.03 32 32 100 40 10 W 3 0.8
PE14.11W32.040.04 40 32 110 40 10 w 4 1.7

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com

2 | SANT



#EEI7J2 | MILLING TOOLS §Au1

AI(UEEHITIR Indexable milling tools

HIBTIE Kesor € @ovoo
PE14

* 71E K Spare

J1H Insert 71 5 #2457 Insert Screw R F Wrench

~

AXMT11T308 TL60M2.5X6.5 TO8

FH: BETDRSH%HiNEEA. WiFEA, Note:Replaceable with Zccct/Sandvik brand inserts.

* 71EMERS Type of Mil
Adapter

Type EARF(mm) Dimension B

s oo [ oo | e [ w | & | Ee
40 50 22 40 10

PE14.11A22.050.06 A 6 0.5
PE14..11A22.063.08 50 63 22 40 10 A 8 0.6
PE14..11A27.080.09 60 80 27 50 10 A 9 0.9
PE14..11B32.100.10 70 100 32 50 10 B 10 1.0

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§AMI #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

* 7] Fi%$E Matching Insert

E A R~F(mm) Dimension
Bl S Type

AXMT11T308-GM
AXMT170408-PM [ ]

-

M THR

s " ac

feER
WkEE. KE®
EERE AL

O o
O m
H EEO

|

|
-

® E&FETF Unallocatedstock O FIEHEETE Available stock B # % A Main application  [] #R/& R Fl Extended application

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS

VEZ ) € @ ono iri el “w € @ oo
RBO1 RBO2

Ll -

—‘ L1
U

@0
@d

@D
[oe]

ap

* 7)ELEF Spare * 718 M4 Spar

J1H Insert J1 5 Insert 71 5 %247 Insert Screw R F Wrench

J1 5 Insert 71 K #24£T7 Insert Screw W F Wrench

ZDET08T2CYR10 SPMT060304 TL60 M2.5X5 TO8 XPHT16R803 TL60 M2.5X6 TO8

ZDET1103CYR12.5 SPMT060304 TL60 M2.5X5 TO8 XPHT20R10T3 TL60M3.5X8 T15

ZDET13T3CYR16 SDMT090308 TI60 M3.5X10 T15 XPHT25R1204 TL60 M4X10 T15

ZPNT2204CYR20 SPMT120408 TL60 M5X13 T20 XPHT30R1506 WD208 TL60 M5X12 T20

FH: BETNRZWSEHRINEEAREITIF. Note:The insert is Zccct brand. XPHT32R1606 Wb208 TL60 M5X12 T20
FH: BEDHFEZWSERMNEARMEIIFE. Note:The insert is Zccct brand.

HZAR~T(mm) Dimension

* 71EHEEIS Type o

ZAR~F(mm) Dimension Adapter

RB01.20W20.020.S 20 20 125 50 20 #0
R

RB01.20W20.020.M 20 20 150 75 20 W 4 0.3

RB02.16W20.016.S 16 20 111 60 16 w 2 0.2
RB01.20W20.020.L 20 20 200 100 20 w 4 0.4

RB02.20W25.020.S 20 25 127 70 20 W 2 0.3
RB01.25W25.025.S 25 25 150 70 23 w 4 0.5

RB02.20W25.020.M 20 25 150 80 20 w 2 0.4
RB01.25W25.025.M 25 25 175 95 23 w 4 0.6

RB02.25W25.025.S 25 25 137 80 25 w 2 0.4
RBO1.25W25.025.L 25 25 200 100 23 w 4 0.7

RB02.25W25.025.M 25 25 200 100 25 w 2 0.6
RB01.32W32.032.S 32 32 175 85 31 w 4 0.9

RB02.30W32.030.S 30 32 161 100 30 w 2 0.8
RB01.32W32.032.M 32 32 200 100 31 w 4 1.1

RB02.30W32.030.M 30 32 250 150 30 w 2 1.3
RB01.32W32.032.L 32 32 250 150 31 w 4 1.4

RB02.32W32.032.S 32 32 161 100 32 w 2 0.8
RB01.40W32.040.S 40 32 175 50 41 w 5 1.4

RB02.32W32.032.M 32 32 250 120 32 w 2 1.3
RB01.40W32.040.M 40 32 200 50 41 w 5 1.7
RB01.40W32.040.L 40 32 250 50 41 W 5 2.1

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#HIJ7J& | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

DT84 7) ~ € @ oo b £ 7] ~“~C @ ovo
RBO2 RBO2

L1

DI ©° L MT
Q2 QA Ll

ap

* 71ELMi¥ Spa

T K Insert FE#R Clamp T1 Fr 4247 Insert Screw % F Wrench

* 71 M spa

XPHT16R803 TL60 M2.5X6.5 T08

T F Insert ER Clamp 7] 5 %247 Insert Screw R FWrench
XPHT20R10T3 TL60M3.5X8 T15
XPHT25R1204 TL60 M4X10 T15
XPHT30R1506 WD208 TL60 M5X12 20 XPHT16R803 TL60 M2.5X6.5 T08
XPHT32R1606 WD208 TL60 M5X12 T20 XPHT20R10TS TLEOMS.5X8 s

XPHT25R1204 TL60 M4X10 T15

FH: BETDREWNSERIMNEEARII Ao Note:The insert is Zccct brand.

— XPHT30R1506 WD208 TL60 M5X12 T20
* 71EMBRST

EHZARSF(mm) Dimension

XPHT32R1606 WD208 TL60 M5X12 T20

FHH: RETFEWSERMNEEAREIIF .  Note:The insert is Zccct brand.

RB02.16220.016.S 16 20 150 70 16 z 2 0.3
RB02.16220.016.M 16 20 180 80 16 z 2 0.4
RB02.20Z25.020.S 20 25 180 80 20 z 2 0.5 EZAR~F(mm) Dimension Weight
RB02.20225.020.M 20 25 200 100 20 z 2 0.6 2 Ei& (ko)
RB02.20Z25.020.L 20 25 250 150 20 z 2 0.7 RB02.20MT3.020.M 20 3 156 70 20 2 0.4
RB02.25225.025.S 25 25 180 80 25 z 2 0.6 RB02.20MT3.020.L 20 3 186 100 20 2 0.4
RB02.25Z25.025.M 25 25 200 100 25 z 2 0.7 RB02.25MT3.025.M 25 3 156 70 25 2 0.4
RB02.25Z25.025.L 25 25 250 110 25 z 2 0.8 RB02.25MT3.025.L 25 3 186 100 25 2 0.4
RB02.30232.030.S 30 32 200 120 30 z 2 1.0 RB02.30MT4.030.M 30 4 189 70 30 2 0.8
RB02.30232.030.M 30 32 250 150 30 z 2 1.3 RB02.30MT4.030.L 30 4 229 120 30 2 1.0
RB02.30232.030.L 30 32 300 200 30 z 2 1.6 RB02.32MT4.032.M 32 4 179 70 32 2 0.9
RB02.32232.032.S 32 32 200 120 32 z 2 1.1 RB02.32MT4.032.L 32 4 209 100 32 2 0.9

g RB02.32Z32.032.M 32 32 250 150 32 z 2 1.4

E. RB02.32232.032.L 32 32 300 200 32 z 2 1.6

THREKEFBREHEBE K ¥151EZMwww.hnsant.com THREGEFBERLEHE] X ¥EIEEMMEwww.hnsant.com




#HI7J& | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS

AIEAUHHEITIR Indexable milling tools Indexable milling tools BI%&{UEEHITIE

ekl “w € @ © ono LRkl vl @ ©Q ovo
RBO3

E & R~F(mm) Dimension

L
Ll
RB03.25225.025.M 25 25 200 70 12.5 z 1 0.7
g g ¢25 RB03.25225.025.L 25 25 250 100 12.5 z 1 0.9
& RB03.25232.025.M 25 32 200 90 12.5 z 1 1.0
RB03.25232.025.L 25 32 250 110 125 z 1 1.3
RB03.30232.030.M 30 32 250 80 15 z 1 1.2
¢30 RB03.30Z32.030.L 30 32 300 110 15 z 1 1.5
Diameter J1F Insert 71 K 4247 Insert Screw #F Wrench ¢32 RB03.32232.032.M 32 32 250 80 16 z 1 14
B RB03.32232.032.L 32 32 300 110 16 z 1 1.7
¢12 ZOHX1203 170 M4X10TT T15
¢16 ZOHX1604 170 M5X12TT T20
¢20 ZOHX2005 170 M5X16TT T20
¢25 ZOHX2506 170 M6X20TT T20
¢ 30 ZOHX3007 170 M8X25TT T30S
¢ 32 ZOHX3207 170 M8X25TT T30S

FH: BENFBENSZKMNEARMEIIF . Note:The insert is Zccct brand.

* JIEMKEES T

Type EHZA& R~ (mm) Dimension Adapter

N
=]
2% | oo | oo | L | Ut | A | gx
12 12 125 35 6

RB03.12Z12.012.M z
c12 RB03.12Z12.012.L 12 12 150 45 6 z 1 0.1
RB03.12Z16.012.M 12 16 125 50 6 z 1 0.2
RB03.12Z16.012.L 12 16 150 70 6 z 1 0.2
RB03.16Z16.016.M 16 16 150 40 8 z 1 0.2
¢16 RB03.16Z16.016.L 16 16 180 55 8 z 1 0.3
RB03.16Z20.016.M 16 20 150 60 8 z 1 0.3
RB03.16Z20.016.L 16 20 180 80 8 z 1 0.3
RB03.20Z20.020.M 20 20 180 65 10 4 1 0.4
20 RB03.20Z20.020.L 20 20 250 100 10 z 1 0.6
‘ RB03.20Z25.020.M 20 25 180 75 10 z 1 0.6
RB03.20Z25.020.L 20 25 200 95 10 z 1 0.8

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#HI7J& | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS

hfcEt) ~ o @ oOma ZENNBENA P Ow0d
RBO04 PTO1

Ll

op

* 7B K4 Spare * 71ELHi4 Spare

71R Insert T1H Insert 71 R 84T Insert Screw i F Wrench 71K Insert 71 R #2%T Insert Screw R F Wrench
ZNMT1804100-C ZNMT2004100-S TL60 M3X7 T10 MPHT060304-DM TL60M2.5X6.5 To8
ZNMT2205125-C ZNMT2305125-S TL60 M4X10 T15 MPHT080305-DM TL60M3X7 T10
ZNMT2706150-C ZNMT2806150-S TL60 M4X10/TL60M5X12 T15/T20 MPHT120408-DM TL60M5X11 T20
EM: BENREWSEERRIEIIFA . Note:The insert is Sumitomo brand. SRR BRI 7R 58 M TE A . Note:Replaceable with Zccct brand inserts.

* 71EHHEES Typ * 71EHIEBS Type of Mill

E & R~F(mm) Dimension Adapter
#0 wE | E=E(ko)

EHZARSF(mm) Dimension

RB04.20Z25.020.S 20 25 140 60 20 z 2 0.3 PT01.06W25.021.01.H9 21 25 10 100 32 9

RB04.20Z25.020.M 20 25 200 60 20 z 2 0.5 PT01.06W25.025.01.H11 25 25 12 100 35 11 1 0.3
RB04.20Z25.020.L 20 25 250 80 20 z 2 0.7 PT01.08W32.032.02.H14 32 32 15 110 45 14 2 0.5
RB04.25Z32.025.S 25 32 150 70 23 z 2 0.6 PT01.12W32.040.02.H18 40 32 19 125 55 18 2 0.7
RB04.25Z32.025.M 25 32 220 75 23 z 2 0.8 PT01.12W40.050.02.H22 50 40 25 140 65 22 2 1.2
RB04.25Z32.025.L 25 32 300 100 23 z 2 1.0

RB04.30Z32.030.S 30 32 160 80 28 z 2 0.9

RB04.30Z32.030.M 30 32 240 85 28 z 2 1.2

RB04.30Z32.030.L 30 32 350 120 28 z 2 1.8

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS
SENNGE A P oMo EENNGEHNE @ OvD

PTO1 PTO1

@Dl

LY
@d
@DI

[}
o]
a
Hl
* 71E M4 Spa * 71 B4 Spar:

J1 5 Insert 71 K %247 Insert Screw #RF Wrench J1 F Insert 71 5 #24T Insert Screw W FWrench
MPHT060304-DM TL60 M2.5X6.5 TosT MPHT060304-DM TL60 M2.5X6.5 TosT
MPHT080305-DM TL60M3X7 T10T MPHT080305-DM TL60M3X7 0T
MPHT120408-DM TL60 M5X11 T20T MPHT120408-DM TL60 M5X10 T20T

E . BEITIR SN AEH . Note:Replaceable with Zcect brand inserts. EM: BEIJR 5% MEAE A . Note:Replaceable with Zcect brand inserts.

* 7JE KBS Type of
* 71EMEBS Type of

EHZARST(mm) Dimension

PT01.06A22.080.10.H8 80 45 22 40 8 21 10 A 0.4

PT01.06J27.080.10.H8 80 4 27 12 8 10 0.2 MPO6 PT01.06B27.100.14.H8 100 55 27 40 8 24 14 B 0.6
PT01.06J32.100.14.H8 100 47 32 12 8 14 0.3 PT01.06B27.100.14.H10 100 55 27 40 10 24 14 B 0.7

MPoe PT01.06J32.100.14.H10 100 47 32 14 10 14 0.4 PT01.06B32.125.16.H10 125 65 32 45 10 33 16 B 1.1
PT01.06J40.125.16.H10 125 55 40 14 10 16 0.6 PT01.08B32.125.12.H12 125 65 32 45 12 33 12 B 1.4
PT01.08J40.125.12.H12 125 55 40 16 12 12 0.7 MPO8 PT01.08B40.160.14.H12 160 80 40 45 12 45 14 B 1.9

MPoe PT01.08J40.160.14.H12 160 62 40 16 12 14 1.3 PT01.08C40.200.18.H12 200 92 40 50 12 53 18 c 3.2
PT01.12J40.160.12.H16 160 62 40 20 16 12 1.6 PT01.12B32.125.10.H16 125 65 32 50 16 30 10 B 2.3
PT01.12J40.160.12.H18 160 62 40 24 18 12 1.9 PT01.12B40.160.12.H16 160 80 40 60 16 45 12 B 2.3

MP12  PT01.12J40.160.12.H20 160 62 40 26 20 12 21 MP12 PT01.12B40.160.12.H18 160 80 40 60 18 45 12 B 24
PT01.12J50.200.14.H16 200 72 50 20 16 14 25 PT01.12C40.200.14.H16 200 92 40 50 16 53 14 C 26
PT01.12J50.200.14.H18 200 72 50 24 18 14 2.9 PT01.12C40.200.14.H18 200 92 40 50 18 53 14 C 3.9
PT01.12J50.200.14.H20 200 72 50 26 20 14 3.3 PT01.12C40.200.14.H20 200 92 40 50 20 53 14 c 42

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#HI7J& | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS
% J]E%&$E Matching Insert EEJJ w %iﬁ“j] ,E; %ﬁ 0 w 0

aa. g é (g g HZA R~ (mm) Dimension

MPHTo60304-bM O @ @ O O 6.35 6.35 3.18 2.8 0.4 PToz H

MPHT080305-DM O @ @ O (@) 8.3 8.3 3.18 3.4 0.5

MPHT120408-DM O @ © O O 12.7 12.7 4.76 5.56 0.8
P E mE O i
M TR Om | . . 5
n%ﬂ% [ ] [ ] o.C | T s

HELE | |\

HHREE. KES | L

BB R HH
©® H&EFETF Unallocatedstock O FJ & EERF Available stock B #% R F Main application [] #h/& K F Extended application

* 71 ELHi% Spare

J1 5 Insert 71 5 24T Insert Screw | F Wrench

XSEQ1202 191M4X3.2X TOOT
XSEQ1203 191M4X4.2X T15T
XSEQ12T3 191M4X5.1X T15T
XSEQ1204 191M4X6.3X T15T
XSEQ12T4 191M4X6.3X T15T

T BE TR S5 AE A . Note:Replaceable with Zccct brand inserts.

* J1EMHEELS Type of

EHZARSF(mm) Dimension

PT02.12J27.100.10.H4 100 40.7 27 12 4

02 PT02.12440.125.12.H4 125 50.5 40 12 4 12 03
PT02.12J40.160.16.H4 160 66.7 40 12 4 16 05
PT02.12J27.100.10.H5 100 45 27 12 5 10 0.2

%% pTr02.12440.125.12.H5 125 58 40 12 5 12 03
PT02.12J40.160.16.H5 160 68 40 12 5 16 0.6
PT02.12J27.100.10.H6 100 45 27 12 6 10 03
PT02.12J40.125.12.H6 125 58 40 12 6 12 0.4

™ pr02.12440.160.16.H6 160 68 40 12 6 16 0.7
PT02.12J50.200.18.H6 200 72 50 12 6 18 11
PT02.12J50.250.24.H6 250 72 50 12 6 24 17

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS
SENNEENA & Owo ZHENNHAENE P v

PT02

PT02.12J27.100.10.H7 100 45 27 12 7 10 0.3
PT02.12J40.125.12.H7 125 58 40 12 7 12 0.4
ot PT02.12J40.160.16.H7 160 68 40 12 7 16 0.8
PT02.12J50.200.18.H7 200 72 50 12 7 18 1.2
PT02.12J50.250.24.H7 250 72 50 12 7 24 1.9
PT02.12J27.100.10.H8 100 45 27 12 8 10 0.3
PT02.12J40.125.12.H8 125 58 40 12 8 12 0.5
T4 PT02.12J40.160.16.H8 160 68 40 12 8 16 0.9
PT02.12J50.200.18.H8 200 25 0 i 8 18 14 J15 Insert 71 5 #24T Insert Screw #F Wrench
PT02.12J50.250.24.H8 250 72 50 12 8 24 22
XSEQ1202 191M4X3.2X TooT
XSEQ1203 191M4X4.2X 5T
XSEQ12T3 191M4X5.1X T15T
XSEQ1204 191M4X6.3X T15T
XSEQ12T4 191M4X6.3X T15T

F: BBETIR S5 MR E A . Note:Replaceable with Zccct brand inserts.

* 71B#i%EIS Type of

PT02.12A22.063.06.H4 63 32 22 40 4 14 A 6 0.2
0z PT02.12A22.080.08.H4 80 40 22 50 4 18 A 8 0.4
PT02.12A27.100.10.H4 100 48 27 50 4 23 A 10 0.6
PT02.12A22.063.06.H5 63 32 22 40 5 14 A 6 0.2
03 PT02.12A22.080.08.H5 80 40 22 50 5 18 A 8 0.4
PT02.12A27.100.10.H5 100 48 27 50 5 23 A 10 0.7
PT02.12A22.063.06.H6 63 32 22 40 6 14 A 6 0.2
PT02.12A22.080.08.H6 80 40 22 50 6 18 A 8 0.4
T3 PT02.12A27.100.10.H6 100 48 27 50 6 23 A 10 0.7
PT02.12B40.125.12.H6 125 70 40 50 6 30 B 12 1.0
PT02.12B40.160.16.H6 160 70 40 50 6 41 B 16 1.3

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#EEI7J2 | MILLING TOOLS §AUI

AR nserablomillngtools
Z®E 7 HE 71 A P Ond

mm) Dimension

PT02.12A22.063.06.H7 63 32 22 40 7 14 A 6 0.2
PT02.12A22.080.08.H7 80 40 22 50 7 18 A 8 05
04 PT02.12A27.100.10.H7 100 48 27 50 7 23 A 10 07
PT02.12B40.125.12.H7 125 70 40 50 7 27 B 12 14
PT02.12B40.160.16.H7 160 70 40 50 7 41 B 16 14
PT02.12A22.063.06.H8 63 32 22 40 8 14 A 6 0.2
PT02.12A22.080.08.H8 80 40 22 50 8 18 A 8 05
T4  PT02.12A27.100.10.H8 100 48 27 50 8 23 A 10 0.8
PT02.12B40.125.12.H8 125 70 40 50 8 27 B 12 14
PT02.12B40.160.16.H8 160 70 40 50 8 41 B 16 15

% JJ] B iE#® Matching Insert

2 EHZAR~F(mm) Dimension
XSEQ1202 O O 12.7 2.3 5 12.7
XSEQ1203 O O 12.7 3 5 12.7
XSEQ12T3 O O 12.7 3.5 5 12.7
XSEQ1204 O O 12.7 4 5 12.7
(P B mE
M TH®R Om
K BT M
AEER
MHREE. KEe |
AR
©® H&EFETF Unallocatedstock O FJ&EERF Available stock B # % F Main application [] #h/& Kl Extended application

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§nu1 #HI7J2 | MILLING TOOLS

B insexabiemiling oo T(O5AR
=EANEENA P Owd
PTO3

D1

* 71 ELHHF Spare

J1 K Insert 71 5 3247 Insert Screw % F Wrench

X3-084508H TL60M3X8 T10
X3-115008H TL60M4X10 T15
X3-145008H TL60M4X10 T15

FHA: BETI RS WL4HE B, Note:Replaceable with Sandvik brand inserts.

* 71E##&BIS Type of
HZA R~ (mm) Dimension
SO I T

PT03.08J40.125.12.H12 125 55 40 12 16 12 0.72
o PT03.08J40.160.14.H12 160 62 40 12 16 14 1.32
PT03.11J40.160.14.H16 160 62 40 16 20 14 1.80
PT03.11J40.160.14.H18 160 62 40 18 24 14 2.10
B PT03.11J50.200.16.H16 200 72 50 16 20 16 2.90
PT03.11J50.200.16.H18 200 72 50 18 24 16 3.35
PT03.14J50.200.16.H20 200 72 50 20 26 16 3.67
14 PT03.14J50.200.16.H24 200 72 50 24 28 16 4.41
PT03.14J50.250.18.H20 250 72 50 20 26 18 6.12
PT03.14J50.250.18.H24 250 72 50 24 28 18 7.38

THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#EEI7J2 | MILLING TOOLS §AUI
=ENNGEIA P OmQ

PTO3

H1

* J1EHHF Spare

J1 K Insert 71 5 %247 Insert Screw #F Wrench

X3-084508H TL60M3X8 T10
X3-115008H TL60M4X10 T15
X3-145008H TL60M4X10 T15

R BEJIR 5 WL45E A Note:Replaceable with Sandvik brand inserts.

* 71E##EEIS Type of M
Category Type EZXR~H(mm) pimension
125 65 32 12 45

PT03.08B32.125.12.H12

o PT03.08B40.160.14.H12 160 80 40 12 45 12 B 2.2
PT03.11B40.160.14.H16 160 80 40 16 50 14 B 2.5
PT03.11B40.160.14.H18 160 80 40 18 50 14 B 2.7

B PT03.11C40.200.16.H16 200 92 40 16 50 16 C 4.0
PT03.11C40.200.16.H18 200 92 40 18 50 16 C 4.3
PT03.14C40.200.16.H20 200 92 40 20 50 16 C 4.5

14 PT03.14C40.200.16.H24 200 92 40 24 50 16 C 4.7
PT03.14C60.250.18.H20 250 135 60 20 63 18 C 8.6
PT03.14C60.250.18.H24 250 135 60 24 63 18 © 8.9

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§nu1 #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

% J]E %R Matching Insert

@2 HZA R~ (mm) Dimension
NI DN
o| o
Z| -
X3-084508H O O 7.7 8.5 9.5 4.95
X3-115008H O O 10.7 11.5 11.5 4.95
X3-145008H O O 13.7 14.5 11.5 4.95
o- 0. |
M THR O O
|k B mO
0
BEERE
MHREE. KES la
FEREM AR
@ EZETF Unallocatedstock O FI & EETE Available stock W 7 R A Main application  [] #RFE R A Extended application

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

AIEAUHHEITIR Indexable milling tools
EENNBHNA P OWD EENNHHNE P OMD
PTO4

_
2 SO I N S B O e

M - PT04.LN1033.J22.063.08.H6 63 22 34 8 6 13.0 8 K 0.1

- ( ﬁ ) lod | |9C PT04.LN1033.J22.080.10.H6 80 22 34 8 6 215 10 K 0.2

=3 \I’#I) PT04.LN1033.J27.100.12.H6 100 27 41 12 6 27.0 12 K 0.3

v o ' [ -y 1033 PT04.LN1033.J40.125.14.H6 125 40 55 12 6 33.0 14 K 05

ar PT04.LN1033.J40.160.18.H6 160 40 55 12 6 50.0 18 K 0.8

KA PT04.LN1033.J50.200.20.H6 200 50 69 12 6 63.0 20 K 1.2

PT04.LN1033.J50.250.24.H6 250 50 69 12 6 88.0 2 K 2.0

PT04.LN1238.J22.080.08.H7 80 22 34 12 7 20.0 8 K 0.2

JIE B2 Diameter TVEap Cutting Edge 711 4847 Insert Screw R F Wrench PT04.LN1238.J27.100.10.H7 100 27 41 12 7 26.5 10 K 03

@D (mm) 1238 PT04.LN1238.J40.125.12H7 125 40 55 12 7 32,0 12 K 05

. TLEOM2.5X3.2 PT04.LN1238.J40.160.16.H7 160 40 55 12 7 495 16 K 0.8

©63-2160 . o T06 PT04.LN1238.J50.200.18.H7 200 50 69 12 7 62.5 18 K 13

6 TLEOM2.5X4.8 PT04.LN1238.J50.250.24.H7 250 50 69 12 7 87.5 24 K 2.1

7 TLEOM4XS5.1 PT04.LN1243.J22.080.08.H8 80 22 34 12 8 205 8 K 0.2

263~ 0250 8 TL60M4X6.6 o PT04.LN1243.J27.100.10.H8 100 27 41 12 8 27.0 10 K 03

9 TLEOM4X7.6 PT04.LN1243.J27.100.10.H8 125 40 55 12 8 325 12 K 0.9

10 TL60M4X8.5 1243  PT04.LN1243.J40.160.16.H8 160 40 55 12 8 50.0 16 K 0.9

i BET R SH%iMEEAEA, Note:Replaceable with Zccct brand inserts. PT04.LN1243.J50.200.18.H8 200 50 69 12 8 63.0 18 K 1.4

PT04.LN1243.J50.250.24.H8 250 50 69 12 8 83.0 24 K 2.3

* JIE#AREIS Type of : '
PT04.LN1248.J27.100.10.H9 100 27 41 12 9 27.5 10 K 0.4

PT04.LN1248.J40.125.12.H9 125 40 55 12 9 33.0 12 K 0.6

1248 PT04.LN1248.J40.160.16.H9 150 40 55 12 9 50.5 16 K 1
PT04.LN1023.J22.063.08.H4 63 22 34 8 4 K 0.1 PT04.LN1248.J50.200.18.H9 200 50 69 12 9 63.5 18 K 16
PTO04.LN1023.J22.080.10.H4 80 22 34 8 4 21.0 10 K 0.1 PTO04.LN1248.J50.250.24.H9 250 50 69 12 9 88.5 24 K 2.6
1023 PT04.LN1023.J27.100.12H4 100 27 41 12 4 27.0 12 K 0.2 PTO4.LN1253.J27.100.10.H10 100 27 21 12 10 28.0 10 K 04
PT04.LN1023.J40.125.14.H4 125 40 55 12 4 32.0 14 K 0.4 PT04.LN1253.J40.125.12.H10 125 40 55 12 10 335 12 K 0.6
PT04.LN1023.140.160.18.H4 | 160 40 55 12 4 50.0 18 K 0.6 1253 PT04.LN1253.J40.160.16.H10 160 40 55 12 10 51.0 16 K 1.1
PT04.LN1028.J22.063.08.H5 63 22 & 8 o 130 8 i i PT04.LN1253.J50.200.18.H10 200 50 69 12 10 64.0 18 K 1.8
PT04.LN1028.J22.080.10.H5 80 22 34 8 5 21.0 10 K 0.2 PT04.LN1253.J50.250.24.H10 250 50 69 12 10 89.0 24 K 2.9
1028 PT04.LN1028.J27.100.12H5 100 27 41 12 5 27.0 12 K 0.3
PT04.LN1028.J27.100.12H5 125 40 55 12 5 33.0 14 K 0.4
PT04.LN1028.J40.160.18.H5 160 40 55 12 5 50.0 18 K 0.7

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

ZENNEE NE & Owo ZENNEENE & Omo
PTO04 Ve sl i

e EHAR~H(mm) Dimension
1 Epd]loC
2 PT04.LN1033.A22.080.10.H6 80 22 42 50 6 18 10 A 05
PT04.LN1033.A27.100.12.H6 100 27 52 50 6 23 12 A 0.7
H 1033 PTO4.LN1033.B32.125.14.H6 125 32 63 50 6 30 14 B 1.4
- Flj; PT04.LN1033.B40.160.18.H6 160 40 76 50 6 41 18 B 14
] PT04.LN1033.C40.200.20.H6 200 40 94 50 6 52 20 c 28
@b -_—éE aC PT04.LN1033.C60.250.24.H6 250 60 132 50 6 58 2 c 46
s PT04.LN1238.A22.080.08.H7 80 22 42 50 7 18 8 A 05
1238 PTO04.LN1238.A27.100.10.H7 100 27 52 50 7 23 10 A 0.7
BEUMEL CEEN

PT04.LN1238.B32.125.12H7 125 32 63 50 7 30 12 B 14
PT04.LN1238.B40.160.16.H7 160 40 76 50 7 41 16 B 14
J1E EZ Diameter T1%ap Cutting Edge 71y B#T Insert Screw RF Wrench PT04.LN1238.C40.200.18.H7 200 40 94 50 7 52 18 c 29
@D (mm) PT04.LN1238.C60.250.24.H7 250 60 132 50 7 58 24 c 47

4 TL60M2.5X3.2

263-0160
5 TL60M2.5X3.9 T06

6 TL60M2.5X4.8

7 TLEOM4X5.1

263~ 0250 8 TL60M4X6.6

9 TL60M4X7.6 B
10 TL60M4X8.5

M BET R S5%MSEAEM. Note:Replaceable with Zccct brand inserts.

* 71B#1#EBIS Type of M

(mm) Dimension

(o oo [ oo | x| o oo
80 22 42 50 4 18

PT04.LN1023.A22.080.10.H4 10 A 0.4
1023 PTO04.LN1023.A27.100.12.H4 100 27 52 50 4 23 12 A 0.6
PT04.LN1023.B32.125.14.H4 125 32 63 50 4 30 14 B 1.0
PTO04.LN1023.B40.160.18.H4 160 40 76 50 4 41 18 B 1.2
PT04.LN1028.A22.080.10.H5 80 22 42 50 5 18 10 A 0.4
1028 PTO04.LN1028.A27.100.12.H5 100 27 52 50 5 23 12 A 0.6
PT04.LN1028.B32.125.14.H5 125 32 63 50 5 30 14 B 1.0
PT04.LN1028.B40.160.18.H5 160 40 76 50 5 41 18 B 1.2

| SANT

208

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

ZEEANNHKAINE P OWD =EANNGKHENE P OMD
PTO4 Ve sl

e EHZAR~(mm) Dimension
_1.
e oo oo [ | 0 [ o [
a PT04.LN1248.A27.100.10.H9 100 27 52 50 9 23 10 A 0.7
PT04.LN1248.B32.125.12.H9 125 32 63 50 9 30 12 B 1.1
H 1248 PT04.LN1248.B40.160.16.H9 160 40 76 50 9 41 16 B 15
b r';e PT04.LN1248.C40.200.18.H9 200 40 94 50 9 52 18 @ 3
] PT04.LN1248.C60.250.24.H9 250 60 132 50 9 58 24 c 4.8
oDy — '*ﬁdl acC
- £ PTO04.LN1253.A27.100.10.H10 100 27 52 50 10 23 10 A 0.7
g PT04.LN1253.B32.125.12.H10 125 32 63 50 10 30 12 B 1.1
1 p
T 1253 PT04.LN1253.B40.160.16.H10 160 40 76 50 10 41 16 B 15
BEYEO cEEN
PT04.LN1253.C40.200.18.H10 200 40 94 50 10 52 18 c 3
* 7184 spa
PT04.LN1253.C60.250.24.H10 250 60 132 50 10 58 24 ® 5
HEET | tS
T1E E1Z Diameter J13Eap Cutting Edge 2SI nEomScrew F Wrench
(%]D] (mm)
4 TL60M2.5X3.2 % J]F %R Matching Insert
63-2160
To6
5 TL60M2.5X3.9 ®le HZA R~ (mm) Dimension
6 TL60M2.5X4.8 R|I=
2|3
7 TLEOM4X5.1 =
065-0250 8 TLEOMAXE.6 LNET102304-GM O O 7.5 10 2.3 2.9 0.4
T10
9 TLEOMAXT 6 LNET102804-GM O O 7.5 10 2.8 2.9 0.4
10 TL60M4X8.5 LNET103304-GM (ON@) 7.5 10 3.3 2.9 0.4
M BET R S5%MSEAEM. Note:Replaceable with Zccct brand inserts. LNET123804-GM O O 10 13 3.8 4.4 0.4
LNET124304-GM O O 10 13 4.3 4.4 0.4
* 71E#HEBIS Type of M
LNET124804-GM OO 10 13 4.8 4.4 0.4
EHAR~H(mm) Dimension
Tooth LNET125304-GM OO 10 13 5.3 4.4 0.4
oo o [ oo | | oo [l S
a- 0w
PT04.LN1243A22.080.08.H8 80 22 42 50 8 18 8 A 0.5
M %R Od
PT04.LN1243.A27.100.10.H8 100 27 52 50 8 23 10 A 0.7
723 m [ L ad
PT04.LN1243.B32.125.12H8 125 32 63 50 8 30 12 B 11
1243 BE&RE
PT04.LN1243.B40.160.16.H8 160 40 76 50 8 41 16 B 1.4 W S r
& E. hée . [o]
PT04.LN1243.C40.200.18.H8 200 40 94 50 8 52 18 A 2.9 .
R
PT04.LN1243.C60.250.24.H8 250 60 132 50 8 58 24 A 47 )
® E&EETF Unallocatedstock O FI#&FETF Available stock B # 7 A Main application  [] ¥R R F Extended application

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#HI7J& | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

=m|NNEHINA %l/ PR EK) =m|NNEFEIIA "//¢ OvNe
PTO0S5
Type Tooth
125 40 55 16 34

PT05.10J40.125.12.H16 20 12 K 1

PT05.10J40.160.14.H16 160 40 62 20 16 47 14 K 1.8

PT05.10J50.200.16.H16 200 50 72 20 16 62 16 K 2.9

10 PT05.10J40.125.12.H18 125 40 55 24 18 34 12 K 1.2

PT05.10J40.160.14.H18 160 40 62 24 18 47 14 K 2.1

PT05.10J50.200.16.H18 200 50 72 24 18 62 16 K 3.4

PT05.10J50.250.18.H18 250 50 80 24 18 83 18 K 5.5

PT05.14J40.125.10.H20 125 40 55 26 20 34 10 K 1.2

PT05.14J40.160.12.H20 160 40 62 26 20 47 12 K 2.1

71H Insert 711 8%] Insert Screw R F Wrench PT05.14J50.200.14.H20 200 50 72 26 20 62 14 K 3.5
14 PT05.14J50.250.16.H20 250 50 80 26 20 83 16 K 5.8

LNGX1005000-GM TLEOM3.5X10 T15 PT05.14J40.160.12.H25 160 40 62 30 25 47 12 K 2.8
LNGX1407010-GM TLBOMAX10 T15 PT05.14J50.200.14.H25 200 50 72 30 25 62 14 K 4.5
EM: BETIR SHMETIEM . Note:Replaceable with Zccet brand inserts. PT05.14.50.250.16.H25 250 50 80 30 2 83 16 K 73

* 71E i BIS Type of M

Type EARF(mm) Dimension

PT05.10J27.080.08.H10 80 27 43 14 10 17
PT05.10J32.100.10.H10 100 32 47 14 10 25 10 K 0.37
10 PT05.10J40.125.12.H10 125 40 55 14 10 34 12 K 0.5
PT05.10J40.160.14.H10 160 40 62 14 10 47 14 K 1
PT05.10J50.200.16.H10 200 50 72 14 10 62 16 K 1.6
PT05.14J32.100.08.H12 100 32 47 16 12 25 8 K 0.4
PT05.14J40.125.10.H12 125 40 55 16 12 34 10 K 0.6
" PT05.14J40.160.12.H12 160 40 62 16 12 47 12 K 1.1
PT05.14J50.200.14.H12 200 50 72 16 12 62 14 K 1.8
PT05.10J32.100.10.H14 100 32 47 18 14 25 10 K 0.4
10 PT05.10J40.125.12.H14 125 40 55 18 14 34 12 K 0.9
PT05.10J40.160.14.H14 160 40 62 18 14 47 14 K 1.6
PT05.10J50.200.16.H14 200 50 72 18 14 62 16 K 2.5

THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#EEI7J2 | MILLING TOOLS
SAENNNSENA

PTOS

* 71 B KiHF spa

J1F Insert

LNGX100500-GM

LNGX140700-GM

B BETHRSHIMNSEAEEH. Note:Replaceable with Zccct brand inserts.

* 71B#1#%BIS Type of

S @D ad
PT05.10A22.080.08.H10 80 22
PT05.10B27.100.10.H10 100 27

10 PT05.10B32.125.12.H10 125 32
PT05.10B40.160.14.H10 160 40
PT05.10C40.200.16.H10 200 40
PT05.14B27.100.08.H12 100 27
PT05.14B32.125.10.H12 125 32

" PT05.14B40.160.12.H12 160 40
PT05.14C40.200.14.H12 200 40
PT05.10B27.100.10.H14 100 27

1o PT05.10B32.125.12.H14 125 32
PT05.10B40.160.14.H14 160 40
PT05.10C40.200.16.H14 200 40

TL60M3.5X10
TL60M4X10

45

55

65

80

92

55

65

80

92

55

65

80

92

71 K ¥24T Insert Screw

H

40
45

45

ap

ap

H o= 7 A

%f GmQ

ae max

20

24

33

42

53

24

33

42

53

24

33

42

53

Type EAR(mm) pimension

agc

de max

#% F Wrench

10

12

14

16

10

12

14

10

12

14

16

T15

T15

B 0.6
B 1

B 2

C 2.9
B 0.6
B 1

B 2.1
C 2.9
B 0.7
B 1.2
B 2.4
C 3.6

#H o= 7 A

ZmE7IEEINA

#tEI7J2 | MILLING TOOLS

P OMD

PT05.10B32.125.12.H16 125 32 65 50 16 33 12 B 1.4
PT05.10B40.160.14.H16 160 40 80 50 16 42 14 B 2.6
PT05.10C40.200.16.H16 200 40 92 50 16 53 16 C 4
10 PT05.10B32.125.12.H18 125 32 65 50 18 33 12 B 1.5
PT05.10B40.160.14.H18 160 40 80 50 18 42 14 B 2.9
PT05.10C40.200.16.H18 200 40 92 50 18 53 16 C 4.3
PT05.10C60.250.18.H18 250 60 132 50 18 58 18 C 7.2
PT05.14B32.125.10.H20 125 32 65 50 20 33 10 B 1.6
PT05.14B40.160.12.H20 160 40 80 50 20 42 12 B 2.7
PT05.14C40.200.14.H20 200 40 92 50 20 53 14 C 4.6
14 PT05.14C60.250.16.H20 250 60 132 50 20 58 16 C 7.4
PT05.14B40.160.12.H25 160 40 80 50 25 42 12 B 3.2
PT05.14C40.200.14.H25 200 40 92 50 25 53 14 C 5.2
PT05.14C60.250.16.H25 250 60 132 50 25 58 16 C 8.6
PT05.14C60.315.20.H25 315 60 132 50 25 90 20 C 13.2

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




#EEI7J2 | MILLING TOOLS §AUI
ﬁll ﬁ ﬁ 7] Kr:i45°  chamfer Milling Tools

ACO1

Dt POND

* J1E B Spare

J1F Insert 71 5 #24%T Insert Screw % =F Wrench

SPMT120408 TL60 M5X12 T20

R BETRENSEHRMNSEASRMEIIF . Note:The insert is Zccct brand.

* 7B B Type of M

EARF(mm) Dimension Adapter
B0
N
AC01.12Z20.012.01 12 20 100 40 z
ACO01.12W20.012.01 12 20 100 40 w 1 0.2
AC01.12Z25.025.02 25 25 120 40 z 2 0.4
ACO01.12W25.025.02 25 25 120 40 w 2 0.4
AC01.12Z32.032.03 32 32 180 50 z 3 1.0
AC01.12W32.032.03 32 32 180 50 w 3 1.0

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§nu1 #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

@]ﬁﬁﬂ Kr:60° (e Milling Tools Q V ‘ 0 M a

DCO1

@D
@d

* 7T ELMH¥ Spare

T1H Insert 71 5 24T Insert Screw W F Wrench

SPMT120408 TL60 M5X12 T20

FHH: METREWNSERMNEARMEIIF . Note:The insert is Zcect brand.

* J1E##EBIS Type of Milli

EZAR~F(mm) Dimension

DC01.12Z20.012.01 12 20 100 40

DC01.12W20.012.01 12 20 100 40 w 1 0.2
DCO01.12Z25.025.02 25 25 120 40 VA 2 0.4
DCO01.12W25.025.02 25 25 120 40 w 2 0.4
DC01.12Z32.032.02 32 32 180 50 4 2 1.0
DCO01.12W32.032.02 32 32 180 50 W 2 1.0

THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

AJ%&AI5HITIR Indexable milling tools Indexable milling tools RIFAZHEHITIR

ﬁl]ﬁﬁ)] Kr:30°  chamfer Milling Tools Q v ‘ 0 'W@ jci&!ﬁ)]ﬁ. v 0 6 o O 0 Nya
ZCo1 XKO1

L1

@D
[oRe]

* 71 ELH4 Spare * T ELMH¥ Spare

71K Insert 71 K 4247 Insert Screw #%F Wrench 71 F Insert 71 K 8247 Insert Screw | JE#R 42T Clamping Screw FE4R Clamp ] F Wrench

SPMT120408 TL60 M5X12 T20 SDMTO09T3-DM TL60 M3.5X8 T10/T15
L60 M4X10 WD204

o Sy N o SDMT1204-DM TL60 M4X10 T15
EH: METRFEWNSEHRMNEEAREIIF . Note:The insert is Zccct brand.

FH: METFEWNSEHRMEEAREIIF .  Note:The insert is Zccct brand.

w 71E#1#RBI2 Type of Milling

* 71BHEES Type of

EHZAR~F(mm) Dimension Adapter| Tooth
tc3m| HE

Type EHZA R~ (mm) Dimension To?th

Bs wH
ZC01.12W20.012.01 12 20 100 40 w 1 0.2 XKO01.09Z25.025.02 25 25 140 60 yA 2
Z2C01.12Z25.025.02 25 25 120 40 z 2 0.4 XK01.09Z32.032.03 32 32 150 70 4 3 0.8
Z2C01.12W25.025.02 25 25 120 40 W 2 0.4 XKO01.09Z232.035.03 35 32 150 50 Z 3 0.8
Z2C01.12232.032.03 32 32 180 50 z 3 1.0 XK01.12Z32.032.02 32 32 150 70 Z 2 0.8
Z2C01.12W32.032.03 32 32 180 50 w 3 1.0 XK01.12Z32.040.03 40 32 150 50 z 3 1.3

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS

AJ%&AI5HITIR Indexable milling tools Indexable milling tools RIFAZHEHITIR

X878 SO P OO X3t 718 SO P OO
XKO1 X

K02

L
L1
al 1* o
1Y IS
* J1ELHF Spare
* J1ELH{F Spare
_ 71 F Insert 7] K 4247 Insert Screw | JE#R42£T Clamping Screw EHR Clamp #F Wrench
T1H Insert 7] B 424T Insert Screw | FEW4E T Clamping Screw JE#R Clamp " F Wrench
WPGT050315ZSR TL60 M3.5X8 T10
SDMT09T3-DM TL60 M3.5X8 T10T/T15T WPGT060415ZSR TL60M4X10 Ti5
L60 M4X10 WD204
SDMT1204-DM TL60 M4X10 T15T WPGT080615ZSR
TL60 M4X10 L60 M5X12 WD208 T20
WPGT090725ZSR

FH: METFEWNSERMNEEAREIIF . Note:The insert is Zccct brand.
HH: BEDREWSERMNEEARMIIF.  Note:The insert is Zccct brand.

* 71EMHEBIS Type of Mi * J1E RIS Type of Milli

EZA R~ (mm) Dimension

EAR~(mm) bimension

XKO01.09A22.050.04 50 40 22 40

XK02.05Z20.020.02.S
LA L PG R 63 & 22 50 WPO5  xK02.05220.020.02.M 20 20 180 100 z 2 0.3
XKO01.09A27.063.06 63 50 27 50 XK02.05220.020.02.L 20 20 250 130 . 5 08
LAV R 63 2 22 50 XK02.06Z25.025.02.5 25 25 140 60 z 2 0.4
XK01.12A27.063.05 63 50 27 50 XK02.06225.025.02.M 25 25 200 120 z 2 06
cLdv gl e 80 50 27 50 A 5 0.9 XK02.06225.025.02.L 25 25 300 180 z 2 1.0
XKO01.12B32.100.06 100 70 32 50 B 6 18 WP0B  ¥k02.06232.032.03.S 3 3 150 70 5 3 08
XK02.06Z32.032.03.M 32 32 200 120 z 3 10
XK02.06232.032.03.L 32 32 300 180 z 3 16
XK02.06232.040.03.S 40 32 150 50 z 3 0.9

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HI7J& | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS

AJ%&AI5HITIR Indexable milling tools Indexable milling tools RIFAZHEHITIR

X878 SO @ P OHO X3t 471 Q@ P 0N
XK02

HZA R~ (mm) Dimension W:ight
5 ={(X¢)

XK02.06Z232.040.03.M 40 32 250 50 z 3 1.5
WPO06

XK02.06Z32.040.03.L 40 32 300 50 z 3 1.8

XKO02.08Z32.040.02.S 40 32 150 50 z 2 0.9
WP08 XK02.08Z32.040.02.M 40 32 250 50 A 2 15

XK02.08Z32.040.02.L 40 32 300 50 Z 2 1.9

XKO02.09Z32.050.02.S 50 32 150 50 A 2 1.9
WPO09

XK02.09Z232.050.02.M 50 32 250 50 Z 2 2.5

* 7T)ELH¥ Spare

71 F Insert 71 B 4247 Insert Screw | FEHR#2£TClamping Screw EHR Clamp R =F Wrench

WPGT060415ZSR TL60 M4X10 T15T
WPGTO080615ZSR

TL60 M5X12 TL60 M5X12 WD208 T20T
WPGT090725ZSR

FHH: METFEWSERMNEEAREIIF .  Note:The insert is Zccct brand.

* 71E##EEIS Type of Mill

HZA R~ (mm) Dimension

WP06  XKO02.06A22.050.04 50 40 22 50
XKO02.08A22.050.03 50 40 22 50 A 3 0.4
XK02.08A22.063.04 63 50 22 50 A 4 0.7
XKO02.08A27.063.04 63 50 27 50 A 4 0.7

WP08
XK02.08A27.080.05 80 60 27 50 A 5 1.5
XK02.08B32.100.06 100 70 32 63 B 6 22
XK02.08B40.125.07 125 80 40 63 B 7 3.5
XK02.08B40.160.08 160 100 40 63 B 8 6.0
XKO02.09A22.063.03 63 50 22 50 A 3 0.7
XKO02.09A27.080.04 80 60 27 63 A 4 1.4

WPo9 XKO02.09B32.100.05 100 70 32 63 B 5 21
XKO02.09B40.125.06 125 80 40 63 B 6 3.7
XKO02.09B40.160.07 160 100 40 63 B 7 6.3

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#HI7J& | MILLING TOOLS §AUI §AHI #HI7JE | MILLING TOOLS

AJEAUHHITIAR Indexable milling tools Indexable milling tools BI%&{UEEHITIE

KL NE vV P OMD Ki#H A VOGP oo
XKO03 XKO03

L1

@D
@d

* 71 ELHi{% Spare % 71 ELHi# Spare

T K Insert JIF %2%T Insert Screw #RF Wrench JIB Insert 71 B %247 Insert Screw = Wrench
WNMX09T316ZNN-MM TL60 M3X7 T10 WNMX09T316ZNN-MM TL60 M3X7 T10T
FHE: BETNREZWSEREFEMRMBEIIK ., Note:Theinsertis Korloy brand. HH. MENRZNSEZEEAEAMIIE, Note:The insert is Korloy brand.

* 71E##&BIS Type * 71B##&BS Type of Milling
EARR~F(mm) Dimension e dizriefu Type EZA R~ (mm) Dimension Adapter
5 |EE (k) B 2 0O
40 35 16 40

XKO03.09225.025.02.S 25 25 140 60 YA 2 0.5 XKO03.09A16.040.04 A
XK03.09Z25.025.02.M 25 25 200 120 Z 2 0.6 XKO03.09A22.050.05 50 40 22 40 A 5 0.3
XK03.09Z25.025.02.L 25 25 300 180 YA 2 1.0 XKO03.09A22.063.06 63 50 22 40 A 6 0.5
XKO03.09232.032.03.S 32 32 150 70 yA 3 0.8 XKO03.09A27.080.07 80 60 27 50 A 7 1.1
XK03.09Z32.032.03.M 32 32 200 120 YA 3 1.1 XK03.09B32.100.08 100 70 32 50 B 8 1.7
XK03.09Z32.032.03.L 32 32 300 180 z 3 1.7

XKO03.09Z32.040.04.S 40 32 150 50 Z 4 0.9

XK03.09Z32.040.04.M 40 32 200 50 4 4 1.3

XK03.09Z32.040.04.L 40 32 300 50 4 4 1.8

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AIEAUHHITIR Indexable milling tools Indexable milling tools AJ&{UsEHITIE

X7 ST~ 1. XL Xit 7R ST - 1 XKLL
XK04 0 EXN

| piib
Roughing Finish

ZHmT
0 L1 Roughing Finish

- ) .
S A8
H T@m UMD AWEMT  fiRmT

Sioot. plunge miling Sloulder milling ~ Copy milling

o * JIAMERS

* TIANIFE S —~_ nw| EmnE | mE | @
é’gﬁ?&ﬁﬁs mmm- - ﬂ Flute| Applicableinserts | \Wrench Screw
16 9.6 16 35

TIF Insert JEZ42%T Clamping Screw R =F Wrench

. EXNO3R-16-100-C16-2T 100 1 2
' EXNO3R-16-160-C16-2T 16 9.6 16 40 160 1 2
S R el TLE0M5X13 120 EXNO3R-17-100-C16-2T 17 10.5 16 35 100 1 2
FB: BMETIRE SRS, FE-FIEB . Note:Replaceable with Zccct/Iscar brand inserts. EXNO3R-17-160-C16-2T 17 10.5 16 40 160 1 2
EXNO3R-18-100-C16-2T 18 115 16 35 100 1 2
EXNO3R-18-160-C16-2T 18 115 16 40 160 1 2
Type EZE R (mm) Dimension EXNO3R-20-130-C20-3T 20 135 20 40 130 1 3
EXNO3R-20-160-C20-3T 20 135 20 45 160 1 3
XK04.08A22.050.04 48 50 22 " as 2.0 EXNO3R-21-130-C20-3T 21 145 20 40 130 1 3
XK04.08A22.063.05 o1 63 22 45 2.0 A ° 0.5 EXNO3R-21-160-C20-3T 21 145 20 50 160 1 3
XK04.08A32.080.06 76 8o 32 5% 2.0 A 6 11 EXNO3R-22-130-C20-3T 22 155 20 40 130 1 3

LT A 80 100 32 20 2.0 A ! 175 EXNO3R-22-200-C20-3T 22 155 20 50 200 1 3 LNMUO303ZER T08 M2.5X6.5
i . EXNO3R-25-160-C25-4T 25 185 25 50 160 1 3
X J]fig$E Matehing Insert EXNO3R-25-200-C25-4T 25 18.5 25 60 200 1 4
7 e ) Dreeen EXNO3R-26-160-C25-4T 26 195 25 50 160 1 4
é EXNO3R-26-200-C25-4T 26 19.5 25 60 200 1 4
WXMUOB0612R-GM @ 13.66 6.8 5.5 1.2 EXNO3R-28-160-C25-4T 28 215 25 50 160 1 4
EXNO3R-28-200-C25-4T 28 215 25 60 200 1 4
n £ O EXNO3R-30-160-C32-5T 30 235 32 50 160 1 5
M 59 0 . EXNO3R-30-200-C32-5T 30 23.5 32 60 200 1 5
n e m 5 EXNO3R-32-160-C32-5T 32 255 32 50 160 1 5
5&4RE u EXNO3R-32-200-C32-5T 32 255 32 60 200 1 5
FHas. Hhad . EXNO3R-35-160-C32-5T 35 285 32 45 160 1 5
AR EXNO3R-35-200-C32-5T 35 28.5 32 45 200 1 5

©® H&PFETF Unallocatedstock O FJZEETF Available stock B #:% K2 A Main application [ ¥R/ R Extended application & SHRERMIIFER. Note: Replaceable with Tungaloy brand inserts.

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




=E#%HIJJE | MOLD MILLING TOOLS §BHI §Au1 HEES%HIJJE | MOLD MILLING TOOLS

Xt 718 S~ vVO@P P Ova K25 7] B keoor S~ vVOe@ P oo
EXN TE9O0

famT H
Roughing Finish

24T D ko]

Roughing Finish

B YN AMEMT  REmMT

Sioot. plunge miling Sloulder milling ~ Copy milling

* NNEMRES * 7B M Spa
—— | RIse  lwm| wmens | mF | @9 7% iser ETTT—— E—
sositens —— | o0 [ oo [ od [ W [ w [ o [ 1 et | copictieres) wreh| s
40 40 8.4 1 55

EXNO3R-040-A16-6T 33.6 16 6

~

’ 4NKT060308 TL60M3X8 T10
EXNO3R-050-A22-8T 50 43.6 22 50 10.4 1 6.3 8

R BENAFSHERMETIFEM. Note:Replaceable with Taegutec brand inserts.

EXNO3R-063-A22-9T 63 56.6 22 50 10.4 1 6.3 9 LNMUO303ZER TO8 M2.5X6.5

EXNO3R-080-A27-10T 80 73.6 27 50 12.4 1 6.3 10

BHEES Type of Mi
&#iF: ERET R TIEEA. Note: Replaceable with Tungaloy brand inserts. * 7= m*& 3
Adapter
Type #0
s
TE90.06D16.016.02.L100 16 16 100 25 6 z 2
% JJ B k¥ Matching Insert TE90.06D16.016.02.L160 16 16 160 25 6 z 2
olg E7 R~FH(mm) Dimension TE90.06D20.020.03.L110 20 20 110 25 6 z 3
§ § TE90.06D20.020.03.L160 20 20 160 25 6 z 3
N[N
TE90.06D20.020.03.L200 20 20 200 25 6 z 3
LNMUO303ZER 000 o [ ) 11.39 6 4.29 2.8 1.2
TE90.06D25.025.04.L160 25 25 160 30 6 z 4
TE90.06D25.025.04.L200 25 25 200 30 6 z 4
p B EEEn O
TE90.06D32.032.05.L160 32 32 160 85 6 Z 5
M %R HEE[N r S
TE90.06D32.032.05.L200 32 32 200 35 6 z 5
" [ an = = m |

Y TE90.06D32.035.05.L160 32 35 160 35 6 4 5
AEERE 2iC d |
3 TE90.06D32.035.05.L200 32 35 200 35 6 Z 5

MHheEE. KEE

TE90.06D32.040.06.L160 32 40 160 40 6 z 6
R
. TE90.06D32.040.06.L200 32 40 200 40 6 Zz 6
® H&PFETF Unallocatedstock O AT EETE Available stock W # % R A Main application  [] #i & . A Extended application
f TE90.06D32.040.06.L250 32 40 250 40 6 Z 6

THRECEFBERLAEHE] X #EEEMMIEwww.hnsant.com THREKERFBELEHE] X #¥Ei1EEMMEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

AJ%&AI5HITIR Indexable milling tools Indexable milling tools RIFAZHEHITIR

Ki#H B T B Kkeeor VO @ P oo W8 JE 3L 7t 7] Kro0° C@POO
TE9O 5 . PHO1

-

O o L
L1
— ap
o e
H | g ® - 2
! ]
-« d 5
* 71EHiF Spare D1

J1 5 Insert 71 5 #8247 Insert Screw R F Wrench
* 71 B M+ Spare

T1E Insert U171} Side Cutting Insert T1 K #24T Insert Screw #HF Wrench

4NKT060308 TL60M2.5X6.5 TO8

FH: BETDRSHETREIIFEM. Note:Replaceable with Taegutec brand inserts.

* 71BHEBIS Type of Mill APKT150412 SPMT120408 TL60 M5X12 T20

Adapter I BETRZWSEH®NMEEE. Note:The Insert Is Zcect brand.

Type EHZAR~H(mm) Dimension B

e IS I~ " I I
40 50 22 50 6.0

TE90.06A22.050.06 A 6 0.4
TE90.06A22.063.08 50 63 22 50 6.0 A 8 0.6 * J1E 8IS Type of
TE90.06A27.080.10 60 80 27 50 6.0 A 10 1.0
Type AR (mm) Dimension
: | = N 7 R T
% JJFi%#E Matching Insert
PHO1.12W40.040.02.E55 40 40 175 95 55
B2 Type PHO1.12W40.050.04.E55 50 40 175 95 55 w 04 15

n|luwln
O|l0O|(0O
=1 NN
al|l =] w
N| W] w
a|lo| o
® OO

4NKTO060308R

B
|
|
|

M THR Om
ad1
K ET 0 O)
ap
BEERE
MAeasE. KEE ad r t
FRREM R
® E&HETF Unallocatedstock O FIEFERF Available stock M # 7R A Main application  [] &R A Extended application

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREAKEFBEREBAB R #HEEERNBwww.hnsant.com




#EEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
2 i 37 % 7] Ke:90°

PHO1

EMTRE 47 71 B Side Cutting Insert

B = 1 A

@O0

71 K 4247 Insert Screw

104

134

104

144

84

74

104

134

104

Adapter

JT50

JT50

JT50

JT50

JT50

JT50

BT50

BT50

BT50

BT50

BT50

APKT150412 SPMT120408 TL60 M5X12
R TR AKMEEEREIIF . Note:The insert is Zccct brand.
Type EHZAR~F(mm) Dimension
2T
PHO01.12JT750.050.04.084 50 246.75 145
PHO01.12JT50.063.04.074 63 236.75 135
PHO01.12JT750.063.04.104 63 266.75 165
JTo0 PHO01.12JT750.063.04.134 63 296.75 195
PHO01.12JT50.080.04.104 80 266.75 165
PHO01.12JT50.080.04.144 80 306.75 205
PHO01.12BT50.050.04.084 50 246.75 145
PHO01.12BT50.063.04.074 63 236.75 135
PHO01.12BT50.063.04.104 63 266.75 165
BT50 PHO1.12BT50.063.04.134 63 296.75 195
PHO01.12BT50.080.04.104 80 266.75 165
PHO01.12BT50.080.04.144 80 306.75 205

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

144

BT50

#F Wrench

T20T

Tooth

wH
4
4 55
4 6.0
4 6.3
4 7.0
4 7.2
4 4.8
4 55
4 6.0
4 6.3
4 7.0
4 7.2

#H o= 7 A

BAP Hfi & ki#%7]
BAP right angel shouder end mill

REYHITIA

MOLD MILLING TOOLS

Indexable milling tools TJ&&{vEEEITIR

od

oD
‘_I.

&R R

=g

1 YN

T
Roughing Finish

ZEmT
Roughing Finish

AMEMT  HEMT

Sioot. plunge miling Sloulder milling  Copy milling

wRF

1257

NESER h Applicable inserts Teeth Screw Pressure

Stocked Letms plate
BAP300R-10-130-C10-1T 10 | 10 | 130 | 30 - 9 APMT1135PDER 1 TO8 M2.5X5
BAP300R-11-130-C10-1T 11 10 | 130 | 30 - 9 APMT1135PDER 1 TO8 M2.5X5
BAP300R-12-130-C12-1T 12 12 | 130 | 30 - 9 APMT1135PDER 1 TO8 M2.5X5
BAP300R-13-130-C12-1T 13 | 12 | 130 | 30 - 9 APMT1135PDER 1 TO8 M2.5X5
BAP300R-16-130-C16-2T 16 | 16 | 130 | 40 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-16-160-C16-2T 16 | 16 | 160 | 40 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-16-200-C16-2T 16 | 16 | 200| 40 | 100 | 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-17-160-C16-2T 17 | 16 | 160 | 40 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-17-200-C16-2T 17 | 16 | 200 | 40 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-20-130-C20-2T 20 | 20 | 130 | 40 - 9 APMT1135PDER 2 T08 M2.5X5
BAP300R-20-160-C20-2T 20 | 20 | 160 | 50 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-20-200-C20-2T 20 | 20 |200| 50 | 100 | 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-21-160-C20-2T 21 20 | 160 | 50 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-21-200-C20-2T 21 20 | 200 | 50 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-25-160-C25-2T 25 | 25 | 160 | 50 - 9 APMT1135PDER 2 T08 M2.5X5
BAP300R-25-200-C25-2T 25 | 25 | 200 | 50 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-26-160-C25-2T 26 | 25 | 160 | 50 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-26-200-C25-2T 26 | 25 | 200 | 50 - 9 APMT1135PDER 2 TO8 M2.5X5

BAP400R

BAP400R-25-160-C25-2T 25 | 25 | 160 | 50 - 14 APMT1604PDER 2 T15 M4X8
BAP400R-25-200-C25-2T 25 | 25 | 200 | 75 - 14 APMT1604PDER 2 T15 M4X8
BAP400R-25-250-C25-2T 25 | 25 | 250 | 50 - 14 APMT1604PDER 2 T15 M4X8
BAP400R-26-160-C25-2T 26 | 25 | 160 | 40 - 14 APMT1604PDER 2 T15 M4X8
BAP400R-26-200-C25-2T 26 | 25 | 200 | 50 - 14 APMT1604PDER 2 T15 M4X8
BAP400R-26-250-C25-2T 26 | 25 | 250 | 50 - 14 APMT1604PDER 2 T15 M4X8
BAP400R-32-160-C25-2T 32 | 25 | 160 | 50 - 14 APMT1604PDER 2 T15 M4x8
BAP400R-32-200-C25-2T 32 | 25 | 200 | 50 - 14 APMT1604PDER 2 T15 M4x8
BAP400R-32-160-C32-3T 32 | 32 | 160 | 50 - 14 APMT1604PDER 3 T15 M4x8
BAP400R-32-200-C32-3T 32 | 32 | 200 | 80 - 14 APMT1604PDER 3 T15 M4x8
BAP400R-32-250-C32-3T 32 | 32 |250| 60 | 115 | 14 APMT1604PDER 3 T15 M4x8
BAP400R-32-300-C32-3T 32 | 32 |300| 60 | 165 | 14 APMT1604PDER 3 T15 M4x8
BAP400R-35-160-C32-3T 35 | 32 | 160 | 50 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-35-200-C32-3T 35 | 32 | 200 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-35-250-C32-3T 35 | 32 | 250 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-35-300-C32-3T 35 | 32 | 300 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-35-350-C32-3T 35 | 32 | 350 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-35-400-C32-3T 35 | 32 | 400 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-200-C32-3T 40 | 32 | 200 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-250-C32-3T 40 | 32 | 250 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-300-C32-3T 40 | 32 | 300 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-350-C32-3T 40 | 32 | 350 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-400-C32-3T 40 | 32 | 400 | 60 — 14 APMT1 604PDER 3 T15 M4X8

THREKERFBELEHE] X #¥Ei1EEMMEwww.hnsant.com

i BRETDFEWUSRZZE. RiNSEERTI A,
Note: Matching insert we suggest Mitsubishi Zccct brand



HEES%EIJJE | MOLD MILLING TOOLS §Bu1 §Bu1 HEES%HIJJE | MOLD MILLING TOOLS

EMR EIE37%7] EMRW [E&£37#7]
EMR round dowel end mill EMRW round dowel end mill

AT
Roughing Finish
AT °
Roughing Finish =

y ZHEmT

Roughing Finish

EImMT

Roughing Finish

¥
IE
-

{%}_ --------- —3 sﬁfi‘i@b——————‘;——-

B YN AMENT EMI
Sioot. plunge millng Slouider milling  Copy milling

UL AMEMT RmT
Sloot. plunge milling Sloulder milling  Copy milling

44
¥

L

"

IS oD | od| L | 11| 12| h [ ce Pressure
ER7 R HE L ES 25T [EHR
ESER oo | o 1 X Applicable inserts Teeth Wrench Screw Pressure EMRW-6R-32-160-C25-2T | 32 | 25 | 160 | 50 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
Stocked Letms plate EMRW-6R-32-200-C25-2T | 32 | 25 | 200 | 50 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
EMR-4R-12-130-C12-1T | 12 | 12 |130| 40 | - 4 RPMWO0802 MO 1 T10 M3X7 _ EMRW-6R-32-250-C25-2T | 32 | 25 | 250 | 60 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
EMR-4R-13-130-C12-1T | 13 | 12 | 130 | 40 | - 4 RPMWO0802 MO 1 T10 M3X7 _ EMRW-6R-35-160-C32-3T | 35 | 32 160 | 50 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-130-C16-2T | 16 | 16 | 130 | 40 | - 4 RPMWO0802 MO 2 T10 M3X7 | WD-202 EMRW-6R-35-200-C32-3T | 35 | 32 | 200| 50 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-160-C16-2T | 16 | 16 | 160 | 40 _ 4 RPMWO0802 MO 2 T10 M3X7 | WD-202 EMRW-6R-35-250-C32-3T | 35 | 32 | 250 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-200-C16=2T | 16 | 16 | 200 | 40 | 100| 4 RPMWO0802 MO 2 T10 M3X7 | WD=202 EMRW-6R-35-300-C32-3T | 35 | 32 (300 | 60 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-17-160-C16=2T | 17 | 16 | 160 | 40 | - 4 RPMWO0802 MO 2 T10 M3X7 | WD=202 EMRW-6R-35-350-C32-3T | 35 | 32 |350| 60 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-17-200-C16-2T | 17 | 16 |200| 50 | - 4 RPMWO0802 MO P T10 M3X7 | WD-202 EMRW-6R-40-200-C32-3T | 40 | 32 (200 | 50 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-20-160-C20-2T 20 | 20 | 160 | 50 _ 4 RPMWO0802 MO 2 T10 M3X7 WD-202 EMRW-6R-40-250-C32-3T | 40 | 32 | 250 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR—4R-20-200-C20-2T | 20 | 20 |200| 50 | 100 | 4 RPMWO0802 MO 2 T10 M3X7 | wD—202 EMRW-6R-40-300-C32-3T | 40 | 32 |300| 60 | — 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-21-160-C20-2T | 21 | 20 |160| 50 | - | 4 RPMW0802 MO 2 T10 M3X7 | WD-202 EMRW-6R-40-350-C32_3T | 40 | 32 /350 60 - | 6 | RPMW/T1204MO 3 T15 | M4X10 | WD_204
EMR-4R-21-200-C20-2T | 21 | 20 | 200 | 50 | - | 4 RPMW0802 MO 2 T10 M3X7 | WD-202 &iE: BRETDREWSRZ=ZEMIIF, Note: Matching insert we suggest Mitsubishi brand
EMR-5R-20-160-C20-2T | 20 | 20 | 160 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 TRS @%ﬁ%u
EMR-5R-20-200-C20-2T | 20 | 20 | 200 | 50 [100| 5 RPMW1003 MO 2 T15 M4X10 | WD-204 .
EMR-5R-21-160-C20-2T | 21 | 20 [160| 50 | - | 5 RPMW1003 MO 2 T15 | M4X10 | WD-204 TRS round dowel end mill
EMR-5R-21-200-C20-2T | 21 | 20 |200| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 ML
EMR-5R-25-160-C20-2T | 25 | 20 |160| 50 | - | 5 | RPMW1003Mo 2 T15 | M4x10 | wD-204 -
EMR-5R-25-160-C25-2T | 25 | 25 |160| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 i
EMR-5R-25-200-C25-2T | 25 | 25 |200| 75 | — 5 RPMW1003 MO 2 T15 M4X10 | WD-204 g Hofﬁg‘lﬁsh
EMR-5R-25-250-C25-2T | 25 | 25 | 250 | 60 | 115| 5 RPMW1003 MO 2 T15 M4X10 | WD-204 h
EMR-5R-30-160-C25-2T | 30 | 25 |160| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 L1
EMR-5R-30-200-C25-2T | 30 | 25 | 200 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 L e ;ﬂ’g‘j’;ﬁm Sfﬂfﬂ?\hlng C‘fp’f:"ﬁlig
EMR-5R-30-250-C25-2T | 30 | 25 | 250 | 60 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204
EMR-5R-30-300-C25-2T | 30 | 25 | 300 | 60 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204
EMR-5R-35-160-C32-2T | 35 | 32 |160| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 it R e = £t 2 e, 5
EMR-5R-35-200-C32-2T | 35 | 32 |200| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 Az =0 s oDlod| L | 11|12 h Applicable inse ce e e Pressure
EMR-5R-35-160-C32-3T | 35 | 32 |160| 50 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 ocked Le plate
EMR-5R-35-200-C32-3T | 35 | 32 |200| 50 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-12-130-C12-1T 12 | 12 |130| 40 | - 4 RDMT0802MO 1 TO8 M3X7
EMR-5R-35-250-C32-3T | 35 | 32 | 250 | 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-16-160-C16-2T 16 | 16 | 160 | 40 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-300-C32-3T | 35 | 32 {300 | 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-20-160-C20-2T 20 | 20 |160| 50 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-350-C32-3T | 35 | 32 [ 350 | 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-20-200-C20-2T 20 | 20 |200| 50 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-400-C32-3T | 35 | 32 |400| 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-5R
EMR-5R-40-200-C32-4T | 40 | 32 |200| 50 | - 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-25-160-C25-2T 25 | 25 |160| 50 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-250-C32-4T | 40 | 32 |250| 60 | - 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-25-200-C25-2T 25 | 25 |200| 75 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-300-C32-4T | 40 | 32 |300| 60 | — 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-30-160-C25-2T 30 | 25 |160| 40 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-350-C32-4T | 40 | 32 | 350 | 60 | — 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-30-200-C25-2T 30 | 25 |200| 50 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
o . — s ) o ) . TRS-5R-30-250-C25-2T 30 | 25 |300| 60 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
FE MEIFENEREE INEA L BERRAR . Note:Vaehing insertwe suggest Mitsublshi, zecoct brand. TRS-5R-35-160-C32-3T | 35 | 32 |160| 50 | - | 5 RDMT10T3MO 3 T15 | M4x10 | WD-204
TRS-5R-35-200-C32-3T 35 | 32 |200| 50 | - 5 RDMT10T3MO 3 T15 M4X10 | WD-204
TRS-5R-35-250-C32-3T 35 | 32 |250| 60 | - 5 RDMT10T3MO 3 T15 M4X10 | WD-204

&iE: BENRFEWSRBILIETIFA. Note: Matching insert we suggest Hitachi brand

THRECEFBERLAEHE] X #EEEMMIEwww.hnsant.com TRAKEFERIEHEB X #HEZEMNwww.hnsant.com




EE%E|7JE | MOLD MILLING TOOLS

AI(UEEHITIR Indexable milling tools

BAPER&RF®T]
BAP right angle shoulder face mill

H o= 7 A

@d
W
= FEMT
Roughing Finish
T
£ mT
Roughing Finish
©
oD B UNIT AMET ARMT

Stoot, plunge milling Sloulder milling  Copy milling

ERDR PS5 RF 12%T ER
TR EE : od a Applicable inserts Teeth Wrench Screw Pressure
Stocked Letms plate
BAP400R-50-22-4T 50 | 22 | 50 |10.4| 6.3 | 14 APMT1604PDER 4 T15 M4X10 -
BAP400R-63-22-4T 63 | 22 | 50 |{10.4| 6.3 | 14 APMT1604PDER 4 T15 M4X10 -
BAP400R-63-22-5T 63 | 22 | 50 |{10.4| 6.3 | 14 APMT1604PDER 5 T15 M4X10 -
BAP400R-80-27-6T 80 | 27 | 50 |12.4| 7 14 APMT1604PDER 6 T15 M4X10 -
BAP400R-100-32-6T 100 | 32 | 50 |14.4| 8 14 APMT1604PDER 6 T15 M4X10 -
BAP400R-125-40-6T 125| 40 | 63 |16.4] 9 14 APMT1604PDER 6 T15 M4X10 -

#iE: BENRFEWSEBR=%. %iMEAEIIF. Note: Matching insert we suggest Mitsubishi, Zccect brand

B= ==177
EMR EIE7FH#7]
EMR round dowel face mill
od
W #HmT
Roughing Finish
-
ZHEMT
I Roughing Finish
[
YT aMEmT  {iRmT
Sloot. plunge miling Sloulder milling  Copy milling
oD
'- oD|od| H | W /| T ]| a ARRICEDEIISE e e e Al
EMR-5R-50-22-4T 50 | 22 | 50 |10.4| 6.3 | 5 RPMW1003MO 4 T15 M4X10 | WD-204
EMR-5R-63-22-4T 63 | 22 | 50 |10.4| 63| 5 RPMW1003MO 4 T15 M4X10 | WD-204
EMR-5R-63-22-5T 63 | 22 | 50 |10.4| 6.3 | 5 RPMW1003MO 5 T15 M4X10 | WD-204
EMR-5R-80-27-6T 80 | 27 | 50 |12.4| 7 | 5 RPMW1003MO0 6 T15 M4X10 | WD-204
EMR-5R-100-32-6T 100 | 32 | 50 |14.4| 7 | 5 RPMW1003MO 6 T15 M4X10 | WD-204

#iE: BETNRBWSRISOIRETIF . Note: Matching insert we suggest ISO standard brand

THREAKEFEREREBE X #HEEMMiwww.hnsant.com

#H o= 7 A

EMRW E 2547

EE%EIJJE | MOLD MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

EMRW round dowel face mill o -
Roughing Finish

'_
ZiEMmI
T Roughing Finish

©
UL AEMI FEMI
Sloot. plunge milling Sloulder milling  Copy milling

oD

'- oD|od| H | W /| T]| a SPRICID NS ee
EMRW-6R-50-22-4T 50 | 22 | 50 |10.4| 6.3 | 6 RPMW/T1204MO 4 T15 M4X10 | WD-204
EMRW-6R-63-22-4T 63 | 22 | 50 |10.4| 6.3 | 6 RPMW/T1204MO 4 T15 M4X10 | WD—-204
EMRW-6R-63-22-5T 63 | 22 | 50 [10.4| 6.3 | & RPMW/T1204MO 5 T15 M4X10 | WD-204
EMRW-6R-80-27—-6T 80 | 27 | 50 |12.4| 7 | 6 RPMW/T1204M0 6 T15 M4X10 | WD-204
EMRW-6R-100-32-6T | 100| 32 | 50 |14.4] 7 | & RPMW/T1204M0 6 T15 M4X10 | WD—-204

TRS E23758t7] e

TRS round dowel end mill

BETNREZNSRB=%JI K Note: Matching insert we suggest Mitsubishi brand

HAmT
[l Roughing Finish

T M T
Roughing Finish

NI AMEMT RmMT
[0]p] Sloot. plunge millng Sloulder milling  Copy milling

. .;: ‘-- oD | od H w T a AppP ble e ee -.. ..
TRS-5R-50-22-4T 50 | 22 | 50 |{10.4| 6.3 | 5 RDMT10T3MO 4 T15 M4X10 | WD-204
TRS-5R-63-22-4T 63 | 22 | 50 |10.4|/6.3| 5 RDMT10T3MO 4 T15 M4X10 | WD-204
TRS-6R-50-22-4T 50 | 22 | 50 |10.4| 6.3 | 6 RDMT1204MO0 4 T15 M4X10 | WD-204
TRS-6R-63-22-4T 63 | 22 | 50 |10.4| 6.3 | 6 RDMT1204MO 4 T15 M4X10 | WD-204
TRS-6R-63-22-5T 63 | 22 | 50 |10.4| 6.3 | 6 RDMT1204MO 5 T15 M4X10 | WD-204
TRS-6R-80-27-6T 80 | 27 | 50 [12.4] 7 6 RDMT1204MO 6 T15 M4X10 | WD-204

KM-45° 5Hz6%7]
KM-45° face mill

#iE: BENRFBWSRBAIMII R, Matching insert we suggest Hitachi brand

AT
Roughing Finish

ZiRmT
Roughing Finish

BN AMEMT RmMT

Sioot. plunge miing Sloulder millng  Copy milling

VEE oD|od| H| W | T |on1 il ce Pressure
KM12-50-22-4T 50 | 22 | 50 |104| 6.3 | 64 | SEKT1204010] 4 T20 | M5X11
KM12-63-22-4T 63 | 22 | 50 |104| 6.3 | 77 | SEKT1204010] 4 T20 | M5X11
KM12-80-27-5T 80 | 27 | 50 |12.4| 7 | 94 | SEKT12041(] 5 T20 | M5X11
KM12-100-32-5T 100 32 | 50 |14.4| 8 | 114 SEKT1204(]] 5 T20 | M5X11

THREKERFBELEHE] X #¥Ei1EEMMEwww.hnsant.com

#iF: BENREZWSER=%. hilshBETI R,
Note: Matching insert we suggest Mitsubishi, Zcccct brand.



	页 1
	页 2
	页 3

